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© fiwse farm ® e faw

F@ISly) @ R whm e e e
| O : G BT (TS ofe 7 |
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© fm ¢ wwerm aen @ﬁmq—éwaﬂﬁ
SO olve) Frefim .
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| o AR 1 oA
ARYEET o0 R 5717
24, ‘TN AHT NG 7

25. m&mmwﬂwﬁ@?

® ITFET

© STreEEA
MEer A 936 e w2
Ao | o5y B ISR T SfeRe T4
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English
Read the following passage and answer the

questions (1-4)
Putting men on Mars has been an idea in science
fiction for quite a while. However, when man first

walked on the Moon, walking on Mars suddenly |

seemed feasible. A manned mission to Mars would be

a huge milestone in space exploration. It would allow
a more in-depth study of the Red Planet, and many
have argued that building a permanent base on Mars
is much more practical than building one on the
Moon. A mission to Mars would be similar to the
Moon landings, but much more difficult. The trip is
about a hundred times longer, and there are new
problems such as the Martian weather which must be
considered. NASA currently has plans to have a man
oh Mars sometime in the 2030s, while the ESA plans
to do so also around the same time. Russia has plans
" tn laumeh o manned Mars mission by 2040.

01.

02.

03.

04.

06.

07.

08.

Sending human beings to Mars has been a topic of —.
® NASA ® Movies Xy

© ESA ® Literature
SO iz v sfa - ot W e

ST, QA TS BN TANE | A3 T&A Literature
q SUBRMA an idea in science fiction SR (T (IR TR
What seems to be a possibility now?

@ Sending a probe to Mars

® Building a permanent base on the Moon

© Landing on Mars by human beings

® Controlling Martian weather

T TS TR passage TS ft FRTER S |
‘What will be the outcome of a manned mission to Mars?
@ A permanent base on the red planet

® A hundred time longer trip

© Martian weather management

® An in-depth study of the planet :
@E‘?Ianamn AERRere KAl W G NIENE
(A AT T S T | Wi arafs T S
¥ | A |

What is the meaning of the word ‘milestone’?

@ Investigation ® A large stone

© Breaklhrough ® Invention

4 tion] Passage ‘1‘517;{’1@ Milestone @
breakthrough e SRERAR @A ToA1 TN AP GFY
92 |

Choose the best option from the alternatives (5-20)
05.

I am used to — by boats.
@ travelling ® travel
© be travelling ® have been travelling

@ Used to @9 7t4 be verb AP LEES)

verb @9 base form 99 FANY ing 20J |

Would you mind — the door?

@ to close ® to closing

© closing © to be closed

g@ E Would you mind @9 #& present
participle S48 verb + ing 3G |

The Padma Bridge — over the Padma River is
the longest bridge in Bangladesh.

® constructed ® was constructed

© is constructed © which constructed

S@ el The Padma Bridge which was
constructed over ¥ (203 which was SR*I6 reduced
(I ¥Y constructed FAMCT LACR |

—— your help, I could not overcome the problem.
@ For ® But for
© Instead of © In case of

O [Epumiog But for (919) your help, I could not

overcome the problem. Wfi{ (SN FITY TS &
TP ANY A0S Ao 1 |
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18. By four o’clock, the s

09. Do you know — 2
@ where does he live
© where he lives © where he live

5 B lEpinio] Embedded Question @< g

subordinate SR interrogative structure T9%S =4 1l |

® where did he live

10. The judge wanted the murderer to be —,
@ hung ~ ® hanged
© anging © hunged

PO Ffts @FIET w4 hang - @@ past
participle hanged T4%S = ; to be 7 *7 verb @7 past

participle 07 |
11. His — condition is not good.
® economical ® economic
© economics ® economy
ﬁ_l}]l His economic condition is not good —
Sfie S wRAfoT w1y w7 |
12. The programme was —,
@ telecast live ® telecasted live
© telecast lively O telecasted alive
\] AT passive S am, is, are, was,
were G *iF verb W past participle 90 | Telecast @9
. past participle — telecast |
13. If T had wings, I — in the sky.
@ would have flown ® would be flying
© will fly ®© would fly
PO 2nd conditional <7 fred a7
clause-4 Subject + would/could/might + verb @&
- present form 2(q |
14. He is yet to get a suitable job — his good results.
@ in spite ® in spite off
© despite © though
@ Erviniod ST T zaw Trge (despite) fsf
GITT GHAYS BT #HIT0A T |
15. I take pride — my achievements.
@ on ® for
©in ®© with
B @ {Expinsion] Take pride in something 54 ey
T sideary < |
16. Rony said that he — her dancing.
@ saw ® had seen
© has seen ® sees
&(BY) Explmtios] @19 SRCY said that (past indefinite)
AP WL GEARIRES] FFE RIS clause-B past
perfect &I | -
17. The greater the demand, — the price.
@® high ® higher
© the highest © the higher
Q) [l Double comparative < FRATRIR The

19.

20.

21.

greater...... the higher I | :

22,

23.

24,

25.

taff — the work. '
hing ® will have finished
© may be finishing
) AT
SO o5 R sEE T I 3y
. q ol (RAICS AUETS future perfect tense
]

(sub + shall/will+ have * v.p.p) TRO A | |
‘Bona fide’ is synonymous with —. | f
® genuine ® innocent

® dauntless
Fmaia) Bona fide (Adj) @9 w4 4% 1 @ omds
*%- genuine,

@ will have been finis k.
© will be finishing

real, actual 27 |

He told me that he — if he could finish work early.

@ may come ® has to come

© would come ® would have cor‘ne - !

@i If @50 AT Clause-f6 past indefinit ; .-5

(he could finish) R WA “dae pa

indefinite (would come) &F | :

Which sentence is correct?

® How long have you been joined this company?

® When did you join this company? |

© How long are you joined this company? i

® When you do join this company? }
Ofivinin w1t su5/a@ @ @S jo i

(AR~ 99 9% Translation 22 - When did YO, ]

join this company? Grammatically G pasy |

indefinite tense @9 interrogative .form G

What is an antonym for ‘dismantle’?
@ Strike ® Assemble
© Destroy ® Remake

@ Dismantle (v)- @31 921, o o @
Antonym (3- Assemble, construct, build.

Choose the correctly spelled word.
@® Bureaucracy

® Accomodation
© Maintainance

pLMal ® Bizzare !
S piamior] 555 a7 Bureaucracy aIm ¢ s |

What is the Synonym for ‘adjourn’?
@ Postpone ® Ban
© Advise ®© Cancel

0 Adjoumn (v) @7 w4 e 331 1 74|

9 synonym Hz- POstpone, defer, Suspend, put offetc
Choose the correct sentence, , ' | L
@ Many men was present there, e
® Many man were Present there.
© Many a man was present there |
®© Many a man WEre presen : J

) Many a, t there.
(S Q] Many a/an
singular verb 273 ; ey

AT g |

™ singular subject +:

¥ :
4Ny a man wag Present thel"i} .
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F QERIR AP TS zrne Awfbre ¥ @
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© 37 ®© W
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RO AP .2 T | | SR Sl iz S |
T TGN FPIS TR | | ST IRl FTS IR
T AFAR A Y || RIS A A |

T 518, O AR Al IR0 P @
@ @fe @ Gt © & © Rrmepe
SO[Solve] @i M @ WA G AES A
RETeRe S/ WA Jo <0 Row T oo T O
Qe =67 0T | _

&foe

e fo 47T, wifet o sepr |
et i <o, IR T I |

@
Rt «r, g S |
AR 1, S T AN |

ToifRfoer e FEAN T e

mmﬁﬁwﬁ*mﬁﬁwﬁﬂmﬁwuaﬁm
(bbbS)WIWWIWWWWWH
T :

IR Sy’ FROW TRFIE JCR T TH T4 AR
@@w{\m ®@vFa ©OGEm 0w

@mﬁbma SRR =P RN ITFICE TG 0T

T PO TR
| (R IR T[S (AP TS N0l

Uo.

07.

08.

09.

10.

- @-fsm . @oss . @I
{Solve] #we et Tofa B ﬁr#'f 8.

11

12.
Wewwﬁﬁaﬂmaﬁ‘\_

15Loq f.‘T-‘l'{ 1ML IRPO LTATL]IC] N Ty

® frede

Topref TwrR :

o | wef 2AfSZPT, AR, “ifeEy |

AR A [T A CPE A AR, AN, AT |

F /et st (R, P, e, e |

RO |9 [T<Fd e P8 , 2N , TS, AT |
I A THRIZAT?

@ O®IWR O O fae
S ONSolve) fmm e wod wfozs @iz e
T | G TIGT A o R TEIm T IE | @
S TS @ T = TSRS, FI I @ FA = FIA |
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E_tlglish“-'- P 20. 1 asked him -"e i ® what is his na;ne

pedeial S 3 i . ® what his n::ir:namc © what .hIS naﬁr;‘l was

was on B

i S T ctded queston 1 By
. ” 7 ¥ L
19 pandemic in Bangladesh is part of “'"]" ate clause 9F structure — principal clause 4
¢ pandemic of coronavirus disease. It is Sipsedin bject + verb.

{Illendi the follow
uestions (13‘16) .
The COvIp.
the worldwid

Mg passage and znswer the

Caused by severe acute respirato WH words * §4 Fimailic

COTONAVIRUS .2 (SARS-COV-2), The vious wae |21, My father forba g tion with bad boys

reported to have been originated from China in ® not to have assocl_at{ n with bad boys

December 2019, Although COVID patients were ® not to keep asso.manowh bad boys

detected in other countries in January 2020, the first © to keep association W ith bad boys

three known cases were reported on 8 March 2020 by ® to not keep agsociation W1 e, B

the country's epidemiology institute, IEDCR. (ST Merpianation Forbid sb t0 o\ S

Bangladesh is the second m

: C ] 2 Brerd7, forbid TR TGy
ost affected country in Fq(s [Aeay/dd JEEIN y
South Asia, after India. 3 i

<% forbid @@ A not IIE I

13. When was the first case of COVID-I9 r di Nt (R
Bangladesh? PP redundancy (I&0) | A
@ December 2019 ® January 2020 22. She enjoys — the piano-
ary 2 . ‘ 1 ® played
© December 2020 ® March 2020 @ playing _ ® to play © play !

= Enjoy, admit, regret, stop 9 verb

T DT GITSTER B | R0%0 R wrgmfics| R R AT verb @7 T ing’l@d‘i' ‘bit
WU (T @IT @ e xee aRee e | 23. It is high time we — our food habit.

EeT @M ==iE =7 I I | @ change ® changed @ to (l:hange ®© changing
14. What is responsible for COVID-19? (S Emiol Tt is time/high time + sub + v, + ex.

@ A bacteria ® Pneumococcus (4, It is time/high time + ’inﬁmuve =FI

© Human immunodeficiency virus 24. He takes — his father. )

© SARS-COV-2 ® to ® on © after © like

D [lEinie] Passage -@ 7 % 2w Sl @ifoe-se | (SO bwamiey Take after- 74 2991, G 77 9w
i1 TS SARS-COV-2 | 25. He made the same mistake — his sister.

15. Which country has the most cases of COVID-19 @ as ® which ©so ©® that did

cases in South Asia? ; §
@ Bangladesh ® India © Pakistan ®© Nepal e
O] Passage - cr sTRWT 1w AT T | option -4 BERS ‘which’, ‘so” @R ‘that’ clause marker.
FOT (@RS TR @, Whe GFRI SRUSH | 26, She has been reading a novel — morning.
ARR IR TG | W] AN R @ifee ® for ®since ©from  @in
WIEFTE (@I (LT SRS e AT | SO [exinic] 72 577 208 @RITS morning -7 44
16. What is the symptom of COVID-19? since I |
@ Stomach pain ® Myocardial infraction |27, ___ {pe work yet?
© Breathing problem  ® Mental disorder @® Will you finish

Explnation| Gap -9 “F (ACZY (I clause (R, ©1
clause marker/conjunction TJI=R F0! & &

_ ® Had you finished
(Lt (ICTES FROGTH TGS T %8| © Have iou finished  ® Do you finish

Eghmio Yet *f6 4 Interrogative &

17. You had better — me alone. negative M TS TN | I 25 ‘yet’ FATYETS
@ left leave  © exit © stayed present perfect -4 T | ;
@3 [{Lyimted had better, would better/rather 117 | 28. The synonym of ‘emancipation’ is —
modal verb -4% 7@ verb AT base form 2 | ® emergence ® abolition
18. To answer accurately is more important than —. © dngy ® Bherdion
@ finishing quickly ® to finish quickly g H Explanation Emancipation 54 3% & 1 ibeticd
ick finish 'O you finish quickly 5 3 , TR

©aqu . Qe | Democracy- T, abolition- fEfé, S,
B Explanatios] And, than, but Te7a S0 Sl same emergence- B | _ e

sructure 2 | S4% 974 infinitive (491G to answer), gerund, | 29. “Man —— free by
noun etc LTFTE AIS infinitive, gerund, noun etc FI |

19. All that glitters — not gold.

teverywhere he is in chains.”
Was born © hasborn  ® were born

“Man is born free but everywhere he

= i ® have is invchl.’.’ ¢ MYE
@ are ®@were ©Ois ORG5!, W T
o All that glitters is not gold w¢ v5E \'Jlﬁ:jmm FE AN /A =
7 77 1 4 T e I | i ”“ﬁ‘““fﬁ*m@%mﬁ%n
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30.

31.

32.

33.

34.

38,

36.

37.

" ‘be verb’ fACH ©F T G reporting verb past T

© Assassmatlon

Ten hours —- too long to wait.

@15 ® are © were ® have b " oG ; _ e i

¢ @) [Expitc) Time (9¥TA ten hours), v;o:;::, 38. = W U e T e SaRe ey oriw
distance, weight @R length -7 % verb J4l singular affeRT s m:%fmwcﬂﬁf RS 29 4 | Feea
7w | B, @ 6 word uncountable e W Ca | ® i ®i[‘°:ﬂ? >

W4, GT unit/ 9P WRE singular/plural @Eﬂiﬁ © TS ®' 3 D)

e AT |
Which is the adjective form of the word ‘home’?
® homemaker ® homely
© homeland © homage
) [{Expiznstion] ST &I, adjective + ly = adverb &
noun + Iy = adjective. @I7- homely, costly, motherly,
cowardly etc.
Choose the correct sentence.
® Open page 5 ® Open at page 5
© Open page at 9 © At open page 5
54 lam Open at page 5= #i15 7% *BI6T &1 |

39. W@mw@wwssvmw@#m1m

(IR SR 6 ) TR TF 0 TS [AgyS SIS @A

®O.SA ® 5A © 3A ® 4A
o, _“E  _ 35 .
R+r 6+1 0%

40. WWWWWW?M@WW

qCICS =97
@- @i

\/E

L,
=—:>L =4L
L1 2 1

What is the antonym of ‘conspicuous’? é
@ obscure ® conscious 41. NG Gﬂﬁmﬂﬁ“ﬂ@; 1.414 myc® | ST TO?
© obvious . ® remarkable 2 1

A Y @me  ®\2mec ©\3me ©2me

S [{Exlantion Conspicuous- WRR, %2 W, s
7T TR G | G 9IS *7 obscure- S8, SEHE |
He said to me, "‘Are’you busy now?” Choose the
correct indirect speech.

@ He asked me if you were busy now.
® Ile asked me if I am busy then.

© He asked me if 1 was busy then.

® He asked we if I was busy now.

[ Expsnatmn Direct Narration -9 reported speech

Indirect -9 if/whether IIZ© TI IR am/is/are -9F

ARRCS was/were 0 |

Choose the correctly-spelled word.

@ Assasination ® Asassination
© Asasination

1| 3P AN Assassination ($ER90) |

Whlch is the correct sentence?

@ The Nile is longest river in Africa.

® Nile is longest river in the Africa.

© The Nile is the longest river in Africa.
© Nile is longest river in Africa.
{‘XC]‘ punatin]  Adjective -4%7 superlative degree’
& 4T the I67 |
The correct Eaglish translation of “SPTHICTH (AF
TT G s — _

® Death is more better than dishonour.
® Death is preferable than dishonour.

© Death is more preferable to dishonour.
@ Death is preferable to dishonour.
Preferable

'comparatwe, iR @7 A FLAS more TIRG W Al | |

[
=[2rg

_ g

1

\/1*2

ST (R mx—— 2m x——mc

\2 O 2 -

42. WWWMSQ@WWWWW
fRed o1 T4 &9 | OB SRYY SR @Y T A2

® 10Q ®15Q ©200 © 25Q
o\ R _LigA_L A
"Ry AnLy Ly A
IDI];: %]‘ %[ A}Ll AZI.n]
= Ry =4 xR;=(4 x5)=20Q
B N et kaa ity R, =n’R; = 4R, =4 x 5=20Q

43, T AT G JRAE (90 WRCE 75 I | G FAE

8 T TF -

@ 1.25Hz, 0.8s
©0125 0.13s

® 12.5Hz, 0.08 s
®2.5Hz, 165

¢ AfEET = (;—0 =0.8s

44, @A GH A A(3s7)ﬁa‘c¢m B(‘SﬁT}ﬁ’iC@
®i+j+7k ®2€+2j+k
©2i+] © 8i +11j +14k

Preferable & #ITa than -3 #ifRTS 4wl to I |

E@song 5 -6-Ii+6-9] +0-Tk=2i+]
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TYF A et STl e we

H;C
%" \g) ®<c1 (& fez 3@ 57 TR H @R CHi—
Br
""‘iﬁ‘ﬁﬁmmwwmrwm Cl @R Br
fe g =1y 4w wieg |
69. IR RfFar ¢t e RFom Afady WG
® <gf ® «eE
© § Bt © i i
70. 5T T ke ke wie
@ Co ®Si0,  © P,0s ® CO,

H3PO, 4

) &

72. 0.01 M NaOH 3¢ pH ¥97
@1  ®2 © 12 ® 13
F®Solve) 0.01M NaOH 31, 102M NaOH -4 pOH =
“log[10?]=2 -, pH=14-2=12

73, MRCAT T 6 A H, (AT FO QT Al Tevig zr4p
®54g____ ® 36g ©:18g ®© 12¢g

Solve] H,-4 wa :
N ;3 Jr-%o2 > H,0
1 mol (2g) . 1 mol (18g)
. 2gH,=18gH,0 ~.6g =182 1.0 =540 13,0
74, ST GG FACT G I I A8 I (Root

mﬂmr(mﬁmﬁ)mqwmsm{
O wd] 2 8T R

® HyC-CH,-CH=CH, ® (H,C),C=CHCH;
© H,C-CH=C(C)Br  ® CH;CH=CH,
O[Sl » wrififs srre: e v R 16

SED[[Solve] CO : Frgeers w=mzs |

SI0,: SN SR (37) | b “Ife vl KR @i e
TR TS 1 #HIRTETS SR T R e @ <11 Bely A |
P,0s &R CO, : S5 SH2S | <& N e Riemm afe
TogTA | ;

-P20s + 3H3;0 — 2H;P0, (4FTS P «q S99 MM = +5)
CO, + H,0 —— H;CO; (4fite C 93 &R I = +4)
H,CO; 97 4y HyPO, Sifis ST | o,

P,05 Wi S5 IR |

CH:-O-CH,C! +Ra153— CH;~O CH,CH,+Mg(Cl)1
@ CH;Mgl ® CH;CH, Mgl

© CH;MgOH ® CH;CH,MgOH

A Solye| ez 57+ waitet =ineam 3,
CH;-O-CH,CI + CHsMgl — CH;0C,CH; + Mg(Cl) 1

Mean Square Speed) F© X(q?
@ @ FediI® WEF  © faee

m WWWWWQW?\/?%I

Crns e \T

' @_m@q

75.

76.

717.

B Tl }

o1 = v
-AVIONS * JOV hU‘

78.

80.

\" l’UllL.t(‘r\Ill'!Nh: OJ_.U”\ Ay -

J —9+C b
+
®:m ]((:B ) ® tan (e” ) @l’ln l(e) @tan(ex)
oy [ X J.'—'_“‘“}e ds = tan™(eY) ;. &
3 CJIE TS 1+ (e5) )+
9f*12x_+4=ﬂﬁm@ww%ﬂm’m
4:9 ®@3:2 ©1: D®4:3
@:-9x-12x+4 0::>(3x 21=0
2z 2
S@x-2) 3x-2)=02KD\g 3
_2
a=B-3
.'.a:B=§:%=111
xz_3y==2wﬁwa@wfﬁ$ﬁmmw
2 1. Nes %
R 22 ol \2
= 2 y M b Iy i
PO < -8y’ =2=5 -4y
X2 i 2
(2y (1)2
I\
2b* x@ I
A #F (A === =1
a \li 2,\!5
f(x) = tan™'(sinx) ¥, () 99 V¥ 397
®0 ©32E ®1
{Solve] fi(x) = tan™!(sinx)
& 1
T+ sike CosX
1 ( =
I +sinf o 1+0—“l
1 ;
1+h’l@wa§@? X
..
®E % ®e
lim 1\, :
x—>00[1+;) = e (JAIPIH)

““ﬁi@@m@ 0%

e| 3x? +2ax + 2by =¢
' 2

:3(X2+2_x,§+(?;)2)_a2
. ' 3.3 =

“+C~2by

+c - 2by
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81. cot(cos’-;-

83.

84.

85.

® -1 ©0 02O
B ) H f(x)=x+i:>f’(x)=1—;lzzf"(x)=;23

: ﬂ.\

Wewﬁﬁsﬂmw,ﬂx)a{):ﬂ-iﬁo

=x*=1 . x=z%1
x=1T, '(1)=2>0 .x=| Froag I &3 |
=—1 T, ' (-1)=-2<0 .. x=-1 o eF I I |

_L cos’x dx 9T W FS7?
2 2 1 2
® 2 ol o’

" Iz cos’x dx = = J.l (cos3x + 3cosx) dx
0 4 Jo

31
3
y=sinx, y =0, x = 0 R x = 7 T€ W& (FEA

(FATF F97

Shortcut : LI cos’x dx 1= %

@ 2 3f 7% ® 2 3 o=

© 3 37 a7 ®+3 39w

SE@E Solve| (FaT =J.: sinxdx = [—cosx]g
= — cosn + cosl

=~ (D+1=1+1=23f ==

b @ com e v [P % | i oot

UiGH 232

®1,-6 ©0,0 ®l1,1

B+ 6B-P-6=0

=>BPB+6)-1(B+6)=0
=P+6)B-1)=0
L B=1,-6 - :

- AP IS R U T RAULT FUDLICA JIUNS @ JUYKULY FUSLILALIUNS & JUT

86.

87.

88.

89.

90.

91.

,m@ﬁcozmwmﬁ@mwmm‘

AULT FUBLILGALIJNS * I ITRAULT FUDLILATIVAS *JUTRAULT IFUDLILAL RS

x+2v+7~umwww
mmw

7 = 7
°(77)0F3) o5
olv =0_—_>x+2y=-7

T T R T N R, T

TH s

) 2
@I Rre 3N @R 4Nw@fﬁmwm
T, R ARG T 67

g Ue orsati Y

®5N ® 3N © 2N © 6N
; ] R:\[31+42+2.3.4 c0s90°
3T 4=
I TS (AP RB Cr e - |
®%hE ©OTx O

MSolve] (PR TGN AT WG IE
Hzmeqﬁ—rﬁ'nw G2 R AT aFvE
Ze1e (simple circuit heart) I | SIAE, TS T4

(venous heart) 31 T &8 CT | (T- ¥R MR |

[Ref: =irer] F.
G BeAMARIAT it P 17
@cwfmrﬁsm ® @RI © CHTEIRFE @ SO
{Solve] ® @ o3 zrs CPRIA Seviy 28
WW(P]acenta)ﬁTWﬁﬁl i
© P BeAFIal “ATSICE PR (Sporophyll) AT |
o WA obiam SiER FRLTE ¢ I4F 9@
(TR R GO A | G F FLELEP STFTR

= | GG enfRaEr - [Ref: A
RS GIZE BPR TG TAME @02

@ GREW FEEIRN @ S

© o ' O JifeT

Q5o Gifes, svm GifF), wiRe™ FRaE
%Eﬁﬁﬂ AEINFIEN @3 B &4FE SAm fucx
TR 5y ofde | ~fie wgew™ By & e
TR ATCEASIRA! | [Ref: 7] ‘
I I BfeTAa ARpitay J28 ¢ Fo[ee?

® Poaceae 1
© Malvaceae |
{ Solve| Malvaceae AT *ISSAT g5 : |
S, mﬁwwmeﬁm(ﬁ%ﬁm)l
2, PP 4T IR RS ST |
O, T AP (AFCRIA 7F) 8 JHSE |
8. ARIAY J2& 6 FO(FT | -
¢. SNIEIPT SR (axile) |

@ Solanaceae
© L111aceae

[Ref: EFIF{]
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92. m%mmmwﬁa
@ TP RIZTT @a‘rimaﬁfﬁﬁ_

S [Solve] FermRERT T wwEe «fe I
A ATP (o 394 A F7 20 T TRRRETH |
FUBTFTRFRIRET &R (non-cyclic) «R_R 5&F (cyclic)
G O S AN | [Ref: 271
LT IR TR -G -G IRRATATS!
e T

@ TE-Z @ - © FF-gE  © AT

93.

et (Red-green colour blindness) W& 7=
TR GR &R 95% M AGER. -GS 91 | [Ref: Wei]
feoa 1 =da et SreiBeemcasy
@ Nemada@ Mollusca © Annelida ® Chordata
@ [{Solve] Nematoda, Rotifera, Kinothyncha @l
g Wﬁﬁmi[ReﬁW} :
Hydra-5 ove S 5% e
@ ® firardier awd w0
© fazar © LFFIN &fors oEma Hea
- @ solve) Hydra o= @z I8 et | fdwifte
(A, 1, o7, 37, ) e o | @R o e
Eﬁmwﬁmw:vaammmww:ﬁa
Ae=T @ “Afdwa TS @ @R =aar T | [Ref: e
96. itoa T Sadrwe Give 991 23
- @ FTEPIEs @ WAMRE © Gt © Fedie
@ Solve] FTTEMIEbe w5 #E @@ @
fSTard 0@, GT GHa SYREES G (microscopic
soldier) 9T | [Ref: =]
I & Feo SIBre k2
®B- © AB DXe
SQ){Solve] 7= O @7 RBC (© @It SifGrem
AN 1 g ey sl A ¢ B T3 9 |
Note : O IR GRIF *F7 Ohne UF = S %y {without)
[Ref: ]

|

e
‘erare’ =twa g By

94.

95.

37,

@ A

98.

mﬁs%mw&wmcﬁﬁawm

Fﬁ’iﬁmwaﬁmmmﬁm

W\ G WO FRO TR T I gy
100,47 R3S L7 O *ife

SR A S |
101. 1% % oFfS '@ ey FA? 1
@+ ®@8+7 O*M+T OM+f |
SO ISohe) fovm wrgrye Feeron : Vil + 5 ()
_xn@\fgss;.;.{‘— @, VA1 + T = Wel/ng, \/‘Tr-}.
W—Wl_m \/‘fp’[+(‘3 (EFal, \fﬁ'ﬁ-{-@ ﬂm
o= W\)znqu G, Ve + @ = 9{@:«!&@
+ T = o, V¥ 4+ T =9 |
102.9-g R 1T =0 &0 QST

@C,—,ﬁ-f ® [t © o9 © T&
SO Solve] e o AREETS Y- R/ R
| T ST TS TS T R T

G FILT W | O IR ARFoend Ao o | ooy
WW¢@WWWW—§WW|

103.9P510® SR @ MBI MLFIS T9-

@5 @ - OFTSWE D RS
O solve] Ffem @ TR 2RFM : TAGT T Rl

5, @F I2d REH- @GR, A SR @-
T, ST TCACE @ ST, WG T $ = @ (@)=
FAGICe, WBY JIT FAR- NG, TIRIAT IH- @A,
SIIIRT T2 ITH— NS | |

104. S5 e -
@srEE @9t © TooM) © pga
@I[Solve) w5t wrgett ampmn - Sivgot (Femm), i

W e (o BRiew), SEgeed wel (W6 T @ Al
SR, SISTG CA (NAIETS () , Sws (Srepit) |
105.Refoga TIRgE 7 STeeT St TG
@ Sbrd ® 58 © b5y O Stdvr
FOfsove] Refoww <wmmmromm = 53 G
S8 @lﬁ:‘m :@ﬁﬂam (= <AfrS), R oA | |
g NPT« R A, SRR AR Pl S |
SCRTARGR | ST = el a2 | S GTUHFET dhto
B wofEm -

106. TR SI1ot T AT @AV @1 I @ BofS? !
@ i AR ® ST FES
©wmmvr@§r O 0f 7L
BONSolve]) 2 Sty e w67 fewa sy e, ©F

o e SN T 0T S | WS
GFE IR A8 |

107.Mge” 919 @ Wit I T52

® EETFG ® 92 R3TS ¢ g= WM
© =i Rrewdta v 71k @ =Aerreg

S @Solve] s weri sy a3 jﬁﬁrwm
SR GROE AR el SN W | T, |

mwﬁwwmm'maaaawi
CEY TR | ]




108. 5T g ey

@ o 7 - ® W A

SONSolve) 1w wfev kot
FIAE AT T, SR T W‘j@%f Tl‘f\'ia?ﬁl
WY (ARG

IR | Hferaees fmef

109wwmwmw%ewmmw
0 REACR?

_@WETL O @ W O T

Solve| JUHT W& FUBR O Tl 8 T4 | QT (T

T T PO (T | O PR i e e

GTOIEd (@AW BRI G ¢ IF o43F 0 O RIS

T Y (AT TR 2R |

110,31 FECST THIR FROR &a6e 7
@ FIGT ST ® R TEWH 7S -
© JIET FerreT A © S

SO Solve) T wHikeey MR : e Ao 2o
RS+ @ AT ST ATS] SYATSR T/
o SfFeR TP/ IR HIRCSS Gﬁr*r'fm Cladr
FoDIE/ 2L AL NOIFI |

smrdfRes

111.ﬁmmmawmﬁfaﬁnawwﬁﬁwm
T g TP ZCA?
@ @& ® =

SOTsond i v, ¢

© &

w—)G—U

tﬂ?’iuoc—- foch

o, EWWWWWWWWIW‘T

WW‘WWW@FH
112@mw@mmﬁ¢ﬁmﬁaﬂmﬁawﬁmq«®w

ol B A | qre e ARHRE TRYE

QIEC IR

®3 ©2 ®1
g Wﬁﬁﬁwwaﬁr’ﬂ @2x2-1)=3
e y = 100 sin (500mt) T,

113.99f6
TG TO7

@ 250 Hz . ® 252 Hz © 300 Hz © 500 Hz

00 = 2nf=500n = = 250 Hz
siraer 6m.| T A efesta® 4/3

114. Wmﬁmm

w,mmwmwa'
@ 4m ® 5m © 4.5m O 5.5m
P Solve =4.5m

115.GIS0 9EY 6.93 days | G G SR F0?
@ 7 days

© 9 days
= 10 days

IIGWWWWW s =2t -3¢ + 46 |
vazmﬂawmww;

__ m e ® 10 days

® 42 © 48 © 24
@.lé (AT §Tg, s = 2t — 3t + 48
aem, v=S=2_6t+ 120

dt

Wa=d—2~—6+24[
dt

- Dsec @ AU = — 6 + (24 x 2) = 42 GTF
117.1%9@@%%5&6@%,%%%'%
(SRR TG ©) TITI! (RIEAT GO SR EFT 7

ek g2 o ®0
IISWWW(%}WW?

® C’Nm™” ® C'N'm”

©CN'm’" © CN7m

119%%@5@&@@%%@@@1%
RrniEe o o7 Ot I = -

@ PR I ® T BE
© f7eGA B« ® e BE
(SO Soive) T o 1.4 (0 3 G ST T T

Wmmaﬁaﬂﬂﬂﬁmﬁcﬁﬂﬁﬂmﬂﬁm
@quwmwmﬁmﬁmﬁwmm
85w B 109 A |
120, SIS J@l FH0?
®MTL"' ©MLT @ML"T'2
(ST Solve] =TT @l [MT 2] g 9 Nm'*

121.4 uF REE @ qeece 9.0V THF @ s F
Wﬂaﬁﬁﬁwﬂﬁﬁﬂﬁ%ﬂ%m?

® 1.62x 107
© 260J

®1.62]
© 324]

U=%CV2:—1£ < (4% 109 x OF =162x 1077

_l -_-_
® 7500 ¢

= ® 2rrad s

@w'—:%oo rads
123 SioRRs SiRa e A & FAPIET F
AT JR© W @FHv?
@ faom ® J&O
@mﬁﬁw -

18 |
__Pod
1800 2¢°

et 9T &' = =

J-"i-h-lo‘\
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IJlllﬁ‘sma.—-licﬂ'ﬁE.0<a< W,Wtanammw

124.6(x) = \9 - x? TRABT COTAT FO?

o i ol =12
@®[-4,3] ®[4,4 ©[3,3] ©[03] 13 13

O wrf reifis za 79w 9 —x* 2 0.
=X -9<0=¥<I= k|3 =>-35x3>[3,3]

s 8.3) .. : : |
125.EXIT @3 TGS TS A Raypt =41 90, IS 0<a<’—2‘mfﬁwtaneww 1?15
lano=Tx

e e L e e B S el i i

wreowf .
®24. _®I12 | ©OF6 @ 16 12 +12
L RAUPT=2x 31 =12 132,21 + § — 2k (5T TR x S RIS R A
12&% =X +1ly TR ~ly =2 ; ® cos™ @) ® cos™ (%)
@1-2i  ,@T-2" O1+KO° ®-1+2i . \ 1
=B 354 - © cos™ (—2) @cos"l( :
I oy 3 \

:>2—1=1x+1y
=2—-i=ix-y
e, x=—1u‘ﬁiy—_')

T s o = e QLT 1 =260 &
i 21 + 5 -2k |] ¢

—‘.
~ly==~1+ m\ﬁ! (3)
127. +2rcosB 33@%%%%%@? ;
®C21) ©FL0) ©0.-) 133.43% 9 32 fus WfTaer @R gBR A 30° M
m 2 +2rcosf =3 TRt et 20 | <Efba S For ;
:>;%—y(+1’);) 3=0 @%s - ® s @%,s ®© 2s j
] l
128.tan™" x FRAFBT @@ Fsa @HG? @Sﬁivé T = 24 sino. t
) ®|ZL] oL o g 1
2°2 272 I 32 % 5in30° /AN ano 1 i
My JRY = = =2sin30°=2 x==1sec
HSolve| tan™'x Y9 (ST = R, @Y = (2 2) GR 32 2 i
: 134.x% +y’ - x = 0 08T CFA
cot™'x & (BTN = R, @& = (0, ) JRE I il |
7 j -
129.%z|x—1;wmfﬁawmmﬁmﬂﬁr ® n 7 47w ® 7 ¥ a5
@%Sx«xﬁ ®—oo<x§-é— %ﬁ‘ﬂw
1 3 0
@25):52 ;
i ¢ .(—5).)(:0
MM cx_ i<l I gy=l
2 2, . 2 —0%53
1 1
:>—§+ISXSE+I )2 ?E-‘q’ﬁfzqw
%Sx s% | 135.25in%15° @@ T FTsE S
130.73% a1 @R 0t AT 01 20 el et g3 o | @ (2=\3) ®2-\3)
7 N IR FO7 . ‘ . 2 2
1 _1_ 5 7 - :
e " ©—— T @@@ 0l _+r3{31
"@i{So! 6+1—’?l+6 75+2 7,24+5=1, - ¥
453=7,3+4= 7015 6 TR = 7 PO 25in15° = 1 - cos(2 x 15°)

3 =1~00530°=1~£=i
: 5 =



R, R i " ———
SO ® TSH

YT P « TEHI Jw w1, “nfewm ey Ty A, JrEa
ﬁﬁmmqﬁmmmﬂmmw e
Wmﬁ@Tmﬁ%ﬂmgﬁﬁwm
G61C% TY% F41 | [Ref: w1rem)

137.097% QLA &5 W SR
@ Rhino virus

® Variola virus
© Flavi v1rus

a wifesRam 4@ e
Wmﬁ?m RNA S1Z4F | [Ref: 7]
138.FTHIR %7 LT TAG?
@® Chlamydomonas ® Chlorella
© U!o!hnx D) Sargassum
[Solve| ® 5T TR (Unicellular motile) 04T :
B0 T T wRT S | < 3-8 5 FmEEfaE |
CTITH ZFTSTET AIPRT G B0 AT |
@ Chlamydomonas, Euglena %1% |
o 751 A (Unicellular non-motile) TR : @
GFCIA @ CIFIE | R (7% ICEEIRR |
GO A1 vermere ek (faifve) Sraarea sy
S@% ACE | @G- Chlorella, Navicula, Gloeocapsa
TGN | [Ref: siem]
139, *MTed Sife F1RG Gt @ e Wk = A
@ Phytophthora infestans ® Agaricus bisporus
© Alternaria solani

© Claviceps purpurea

36zl @6 3T, woralG e Wi I3 Wil 23h
Alternaria solani Ta0 T 41T | [Ref: T71)

140.GMfER TR wsiaice = Reiftrs wemm o ame

©s8fo Defo

a6 TG AR A G T I A | FHA-AGHE @
e fofere cwifear for Femy @@ | 3 : >, 7l
olifE W v T4F Ciwif; X, @ «f 27 a Ciie a9
o, B atwfe I T EIfR | [Ref: rEv]

141,10 SR g “afo?
. @ SIELN ® fvarem weg fodme

© TEE™

Er— (cienhsmon) E | «ft FYRTS F2end Th

qTE | 7T :

S. SIRGR (Vasectomy) ; € 7&CCS $FE (FLT TS
TS N AT |

R. el (Tubectomy) T FRTMS (Ligation) : 4
(Fowfer) = =75 (&0 o7l ¥ UM ST R0
o TR I T | [Ref: o]

S@Solye) TR-2TrMs = (ADH) |-

142.c=0 &F 1 febe Bf fowe Rt

@'ﬂﬁr‘f ®TwE OCOLFEm OFIE
LSolye) Tww e @mm @ ewged

TEFREE G 97 AT qW BR o s @

ST, BF «#a, Gf i, 76 B g3 amm B

e ARTS | (Rer: )

14357 FEmT %5 wmr Sevly & @G
@ Callus ® Microspore
© Zygotic embryo @® Somatic embryo

)]%m EEtE  GRATEAEH  (Somatic
embryogenesis) :

@ ooy sFmr mfors Efein wft Grfbs @@
WEE @E w4 e T oW GR GT F (WS
SIS Bl TeAME  wA W ONE  ETI®
GIITHCETAT 0 | [Ref: W]

144.77057 @ S wifee gt e effemn oF o
® @ @ ffefm @ aRfm O Ffew
EONSave 1 @ i, AUG 0 fifdehm
wifarer Sois e | 78 AAfTabRe FReaer e
fafr e =0 | [Ref: 2]

145 GRTE TGEWI G SferT &
® Sonneratia apetala Opuntiu dillenii
© Nerium indicum ® Camellia sinensis
@M Solve) crmmmfba Bfewwa tafiey :

S, EMMEIL7 Sferwa F1s ¢ 2/Ts! Tl AN |

X, o B A G e it A s g e |

O, EREIGT Sfew erzae o 27 |

8. W Tfety warE SEEm (Viviparous germmallon)
@, @~ Rhizophora @ SaiS | Ref: 2z

| 146,703 R 2 R T W @2

® RFefa @ T"/fr  © 8w © Wt
PONSave) Toie 1@ e 2w a1 4w wdd | 7o
TS (Urochrome) 7F A5 <wid e «ft <
BRI L (A et B o LA [ o B B 1
LT | [Ref: wwzw)

147 =TT aferar am@r vj2 Sfew @ agfen =
@mzme @fe Ofwme © W
O Solve] smom1f eferarm 72 Bfew fearae (2n)
aFR AOC(Erwd T TN | @ Hieracium,
Pteris, Osmunda &S | Ref: swem]

148. 111 SR T &2

® T © g D AT

{Solve f= 123 Paramyxoviridae AfRETS
&G RNA SIZaF TR 99 T Henipavirus | 9% 9%
SRR TRE TS (FGATI) 24 | [Ref: 7]

149.791 & [fera s 3w @mib?

@frm @ww Owy  OftwF

S Solve] s == (uterus) oo &9 ¢ T

f@Pre 27| oS e & 9 T A 36-38 AR TS

IR qRRIEFe ek 70 | (Ref: Zp7)

e
R i T

B & r vt | o -« oEl
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08. ‘GRHIG BT

feyRmrrR sftee q seTe B S5 e ST ST
©fE A 2055-30; 2BRHG: RwH ® St A 71 T
_ _ © 359 7T TR & ST
ST & : TS FICRBT R0 SPilea

01. ﬂﬁaﬁmewmﬁw
@ iz @ ez © i © e

SQ[Solve) Forefs =it efirs Swmer

B A £ ¢oATST -

ik @RI | W | cTEn

02. ‘AMT o3 ' T 1w o

@ T ®xEE ©9RE © FEe

EO[Solve) wfovter T Bomm @ i 2z :
il Tt
wrqoed | feifer, o, g |
afswrd | & zer, fr 9w, o o, (% G
A sied @AEA, (@R, (@PTe, (TO |

@IHAE O@TErE O O em
SIS O (&l |
04, ‘G SN TS T 7 AT (RIRIE Srgrest ST
- @ @ © o7 © T
SO Solve) T cretita e sifiww -
SRS I : A W7 IABTE | 291 : Henri-
b, Renri-Albert-Guy de Maupassant
& G : ¢ ST Sbeo B, TG, T |
AT | e : @S W iR et wRr i RbRe |
05. ‘IR WY oy —
YRS IS FCA 1 I I A7
® ©IERPT  ® 9l © waEE @ Trmel
S@fSolve = fiem =izafs o e 239 wbs
‘CR 9 IOT (A HIF FAN TACE |
06. FAFAR SIPER SRS 26 @R i A e
@@ eSO EE O FEE
F®fsolve] wofifser aum e = e Gigd
TS WFE F@AT ATEE 30 TCHT (35d8)
JIfSE T | Seiffoer Ten wraa T re @ oM |
‘oo’ T R AUl ¢F JfegaN A
AFIfE T, OF ARET SEAG FANEA |
07. ‘SIS FO Q-
@ g o=

© T [
- POk

PIGA So RIS

BlE]

BRICEASE]
© oI O
G WG SREE e
ol | B T A TFaIE

09.

© AT
wrd ArEr = o A
@-é- :szm,

&’ (King) Std
ﬁtai‘érm,gt)ﬂmwmm:ﬁ@ﬁamz
e I A AGT?

P ®®R OWR OTR
@@mww=mﬂé,m,w.
51, WG, aB, @iz, Torgs, [, T,
W,W,W,W,W,“W,W,W'
1 T SREE 57 #1e (5TAe S | I Gl Gafare

@ubs  @®dfE O I @ AT
B Osong o sfer e « Hne fofit @, waif
o oAl | e 7 Wik, S 7 Sfaa | 74 form
I, S FeAe A | Al AT 97, O T AT |
‘Lyric’ *m{5a reT “fFeifis =m @Ho?

@By @ vs e © Feg O Afswfe

O Solve] wfomra exrgey =i -

10.

11.

12,

e

Rm=w  |sfem | Rl ==

Landtenure | J457g Laissez-faire | o114 (e

Lagoon Toigw Lopsided G
English

Read the following passage and answer the questions (13-17)

After inventing dynamic, Swedish-born Alfred Nobel
became a very rich man. However, he foresaw its
universally destructive powers too late. Nobel preferred
not to be remebered as the inventor of dynamite. So in
1895 the year just two weeks before his death, he created
a fund to be used for awarding prizes to people who had
made worthwhile contributions to humanity. Originally
there were five awards for literature, physics, chemistry,
medicine and peace. Economic was added in 196 :
sixty seven years after the first awards cerem
original legacy of nine million dollars was ;
the interest on this sum is used for the awar i
from $ 30,000 to $ 125,000. Every year, on cli)se::v:;fgle: 5;1'8’
the anniversary of Nobel's death, the awards (a oléi
medal, an illuminated diploma, and money) are prese%[ted

8, just
ony. Nobel's
nvested, and

w3 A |

e nDEICATIONS o JOYKOLY PURI 1A aaceae .

to the winners.
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13. What is the main idea of the passage?

@ Alfred Nobel became very rich when he 1nventcd
dynamite.

® Alfred Nobel created awards in six categories for
contribution to humanity.

© Alfred Nobel left all his money to science.
© Alfred Nobel made a lasting ‘contribution to

human. K
14. The word 'foresaw' means —
@ prevailed ® postponed
p revented _ ® predicted

(predlct) prevatl G F0 postpone IS AN
prevent SO, et Fa1 Tonifir |
- 15. Itis implied that Nobel's profession was in —.
@ economics . ® medicine
_ © literature ®© science
16. How much money did Nobel leave for the prizes?

TAOSERULT FUBLICATIUNS # JOYKOLY PUBLICATIONS » JOYRULY PUBLIUA LTINS ® JUYRULTY FUDLIL AT ILIND =

24. The Bangla meaning of the English proverb,

SSTRULT TUDLILA D

"Penny wise, pound foolish" is —
@® Y F A G 0, S FFW QP A |

® &Y 7= T I+ |
© =¥ 1 A ST I8 = |
© TG B THAET (AT |

5. The correct complex form of the sentence 'A
rolling stone gathers no moss' is —

@ A stone that gathers no moss is rolling.

® Since a stone rolls, it will gather no moss.

© Though a stone is rolling, it gathers no moss.

O A stone that is rolling gathers no moss.

(15T complex sentence 2 |

26. One should keep — promises.
@ his

® one's
© everybody's

@ $ 30,000 ® $ 125,000 H Explanation) One @9 possessive form 209 one’s |
© $ 9000,000 D $ 155,000 @ns(C) | 27. He should be ashamed — his misconduct.
17. Which of the following statements is not true? @ to ) ~ ®of
@ Awards vary in monetary value. . © for
® Ceremonies are held on December 10 to - pamstion| Be ashamed of #ifesr® |
commemorate Nobel's invention. 28. Smoking is detrimental — health.

© A few individuals have won two awards. @ for with

© Originally there five awards. © to © after

18. The Arabian Nights — still a great favourite to

many people.
_® is © are ® were.

H Explanati EIT.?FT'-WSI @I TN, W, |,
ﬁcw eisf%ﬂamw singular = | AT SY has 27 |
19. I—to the hospital last Friday.

@ would go ® must go
© have to go ® had to go

tense 15@ |
20. The criminal — for murder.

® was hung ® was hanged
© has hanged © hung
' o] 07 7 oed hanged A | (WA

EIFTITHT ‘ﬂt’fhung E1 i
21. Istudy hard — I should fail in the examination.

@ sothat ®unless © or O lest
St

22. The synonym of 'homogeneous' is —.
® heterogeneous ® ingenious

© indigeneous ® similar
Expiantin] Homogeneous J&Tor (similar) |
23. My fnend said to me, ""Let us go you and L." The
correct indirect speech is —
® My friend proposed to me that they might go.
® My friend requested me that we could go.
© My friend suggested that we might be allowed to

go.

' g Detrimental to o4 |

29, 'To read between lines' means —.

@ to read slowly

to read only a few lines

© to read quickly

© to read carefully to find out meaning

@ To read between lines HFOTH

oIS AT o g SR 1 S w4 |
30. He was reading a book — waiting for the bus.
@ as though ® while
© when © as
(SO vt 7fl et = 0 BT GIOT AT TR
& while ﬁm |

31. My parents had given me the money, — I couldn't
have afforded the trip.
@ otherwise

© but

@ Eylation] Otherwise SRAR | e parents B1F
st SEUA trip @ TSR TIFE QI 20 = |
32. I wish I — your shoes. ;

® if

.@® was in ® were in
© put on ® get into '
plamation] Wish, as it, as that, as though Qi'"ﬁ
49 Verb Lﬂ?I past form = |
33. What is the verb of the word 'beauty'?
@® Beautification ® Beautifier
© Beaunfy ©® Beautiful |
on] Beauty (noun) < verb beautify (a5

® My friend proposed to me we should go.
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SVERULY PUBLICATIONS » JOYKOLY PUBLICAT « JOYKOLY PUBLI I:J . JOYKOLY r:‘ Lt NS » oLY PUBI,ICAT[QNS'_IGYKOLY- PUB. 2:1 m
S o aF e T e e s S
@ omnivorous ® vegetarian R iR SRS T3- 81
© capricicous' ® predators ®\z:1 ®2:1 ©4:1 4m.
SOz Carnivorous =< SR | @7 o *ia EESgTT B _ pl  2x2m . S T
vegetarian | Omnivorous ¥ capricious 2RI SO [Selye E, 2m p" 41
. predators frif | R B =8 ] . T
35. Choose the correctly spelt word. 47. ans%ﬂl}?rc;?r sf it Hraed Al =, T
@ repeatation - ® repeatition T NG T TS 2A?
© repetition ®© repetation ® SoifRfEs IR ® =4S 29
Q@i 55 T repetition (E) | ® faed =S

36. %hoose the correct sentence — _ [Solve] ¥ =g s o[/ SN Tt
Inform the case to the police. o — :
® Do not violate againstfhe law. AT | SR Cr o \ﬁ cifre T =
© Can you tell me when will the train come? 48. fea @El Bame wRw™ b o e
® Who is to bell the cat? &0 0w /O i
37. Choose the correct sentence — Yi{Solve| 7 GfF® AMH: Length (m,)’ R Etg ’
Rt i e okt T s [ smount o subtane (nol0 s mensey (<)
Meat is eaten cooked in our country. » amount of su ’
© Meat is eaten cook in our country. A 49. 5Q @It G= oEE G = o fawet =T 2 |
© Meat s ate cooked in our country. Ans(B) SrRfox AR @y e e
: ’lﬁiﬂﬁ'\ﬂﬁﬁ[ : ® 200 ® 10Q © 15Q © 45Q
38. T (71 oMfre fiew oW Reaf® e Rem ©oR R’ =1n’R = (2)" x 5 =20Q
RS
® = ® G *f&
© ™= © @
39. M F =81 +2j er=6] + 8k TWo@ .1 w0 2
® 64 36
©32 © 48
40. n-type WERARATS 7 =T (majority charge
carrier) (RMG?
@ &= (Hole) ® AET (Electron)
© EET (Neutron) - © ARG (Positron)
41. PoR 39 T G D7
@ Nm ® Nm-z b \0/
© Nm? ® Nm™ AnD) | 51. T AR 11 =t apy

® AND
© NAND
43. T, T S FET WTAR FAME T vy, Uy 'S v, T

Rees e TS oy

- @ Na

HCI, H,8Q., KOH, KMnO,,
52. PVC e SR oo
® -CH, -CH, —
©

Na,8,0,; @ “wdyg THIRR |
(repeating unit) Gy
'® -CHCl - CH(J —

_CHz. Cl' ® ‘CHCI ‘CC]Q—-

: 1Solve] Poly Vinyl Chloride (PVC) 93 Tt
= foRI3s @RIZE (CH, = CHCI) |

H 1.7
gr !
. R %

|

n CH, = CHCl ————

@ v, > by > 1 ® v, >vy>vy
©Ur=Ug:Uy @Uy>00>0r
44, Brq W@ @G
@ [M’LT] ® [ML'T’]
~©[MLT] © [MLT’]
45. 3 GfB 98 AT (0 BT O I ©F I~
@ ® T
© wHifFaoe ©9.1x107'kg  Gu(B)

LN H-—n



@ NH, ® HF
© CHq @ CH,OH

wrt T wrgEE 1.5 ¢ wlgew
Vs vrGET 20y aremn ondE WL 04, W

BIRrone ¢ BLEILEH T8+ HBE ey el ey

" @ FmreE TUm W o
® Frerer e wpw T
© fen >
O sy e T
Vi Solve) 2rrerd s,
o AT —» W9 R (o o) e e
SRy TG TR T g
55, S.T.P. ¢O cars o 4.dg o wrew 2,241 @A
® CO ® N, © Co, @ NH,

STP (%, 22 4L WU 4L% | mol 71,
2248L . 0.1 mol 5013
W, CO, 97 RPTASE = 12+ 16 x 2= 43¢

5 COy @1 0.1 mol 9 % = 440,144 g
56, carafl A B faftsura o fod =
dB .28 & - dt
® di_ O-5 dA ©-38
A — B ffaau,

fqﬁn-‘mu;-: s ey fefamura wnnman ﬂ( )‘

o U ST e 306 %?}

b

57, 1°, 29 @ 3° e ey wal Wy TR AT R -

Q@ Broa g @ AR «re
© wpy s O @t o

SO Salve] NaNO. & HCI @z ffmumw Bei HNO;
(RIBLYY W) 9T AW,
1°Wifim — N, P78 ST
2° Wi~ T eE TR S,
3° W - ey smoefore IREY #3
58. (CH),CCHO <@ IUPAC = 07
@ Ithte W wads
2.2,2- Dl B
SO Sehe IUPAC wefegs, 3% @ weiewis
* | TRy Her wds fen ST e T

MU “ww oy Py T gE ww @
CHx q
)

1
H;C-- »(1:- -C-H; 2, 2-srRfawde @ =m-

@l ®3
@2 D4
PO Solve) HC 7 s wawa g o s o
L [H} =001 M
- pH = - log (0.01) =2
60. sz caw waeiby vl g iy
@ CU(NO;}; . {E F(’.‘ﬁ()x
© Ni1S0, @ ZnCi;

Zn*l‘mduﬁwﬁﬁw:&&m
e sy oa e e e W Ay

Ry WoTEEE am whw Kol @ fafswy el
Test ww?
@W

61.

@ Bww

: O Trww
m et affoes il Wi
HyC ~ CHy Lz + KOHy = HiC -~ CH; -
CHTHGTH SNTPT

@ Na K, Rb ® Mg, Al, Sb
@ﬁi Cie, As ® Ba, Fe, Ni
= '*sﬁ*hﬁ-——) Li, Na, K, Rb, Cs, Fr
TUFTH WF —> Be, Mb Ca, br, Ba, Ra.

HATT/SNTT — Si, Sb, As, Te, By Se, Ge

WAy W5 — Ti, V, Cr, Mn, Fe, Co, Ni, Cu B2,

WKCI0, Y01, Skl + 30, RfRm MnO; @R

TR ST ROTE 0w Wy

r‘ e gfsraE

® WY ATEE

© =l ereAE

O =if4? gerae

PO e 25 @ — MnO,, Ni.
W HEEw — i

T (W0 ¥5EE — Mn®.

AT ETAT — CRIETS FEED (Na,S0s)

-OH+K" +T
62,

03.

64, forr @y Rens-sw 74 oraE @ Gl
@ Ca @ Na
© Mg @ Cu

Na — G711 &7, K —» (%, Ca - 2003 7 ",
Ba — 8.5, Cu — %S 738

CH.

65. CH;CH,CH:Br + Na dry ether »y M- cvBa By
@ @@= ® 2o
O ==
2 C;H.Br + 2Na i N@» CeHyq + 2 NaBr

g e e ey e g
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66. HSO4 97 ST Wi @Gy

® HSOs

@S0%

P TR, WW@%@@RWWWNWW
Wmtwﬁm , GG & T S oF |

HSO4 g5 - B B HzSO4

HRE S @fre
67. CsHj, G FOLTL A 7
@3 ®4 ©5 D6
: . 1.|13c
H;C-CH -CH,—CH, H;C— C—cH,
Cu, H,
2-flrenzsr sy Neo-CTH/CIRRRIET (eligspy
68. CﬁHsCHs W"IC@ CS WW{W W‘
@ 15,3 12 3
%9 6 D 6, 3
: H
|C
H"S.-C'-E-H
w Sk
o X &t
g |
o
: H
69. e WW@WWW{WW?
@ HCHO ® Ph-CHO
© (CH;);,CCHO ® CH,CHO
g@ AR R e R
TG Feteqs ﬁ%:tn i
O%C/H
o)
g H- 280 (|;H3
//
NO a-Carbon H CH;
NO a-Hydrogen NO o-Hydrogen
70. SUFTIRT GRS Sy2 ﬁmmﬁm@m

@ 1°>2°>3°> CH,-X

®2833°> 1°> CH,-¥%

©3°>2°> 1°> CH,-X

@CH3—X>1°>2°>3°

Sy2 fRifeFar ﬁ@iﬁsﬁmﬁww
wﬁmaw&wwmwwﬁf"ﬂﬁ_w
FENES Sy Ay 53 |

KOLY FUBLILAI
JOYKOLY PUBLICATIONS » JOYKOLY PUBLICATIONS » JOY 71. 36g ﬁrﬁt@ Wt_ﬁ"ﬁ"’iﬂ *O?

2 Pum_rwu
L

23
12.046 x 10% ® 1.673 x 10
g; 325 x 1023 ® 1.545 x 1023
{Solve] H,O oM SR & = 18 o = ~(I6+2, a
18gH20Lﬂ‘2ﬂtEF6023 x 107 &g |
36gH20L‘l?FrCi15]2046><1023wc1|
N2,S,0, Gt S 7 Gt IRYT F62
@15 ®25
©3.5 D45

72.

73. ™ ofere H,SO,9 eAme ey
R I7©
® Fe o

ooy

® Mo

® V05

{Solye] r *mfTs H,SO, tofiTs ersis —
or V,0;. 2R3 #afere NH; tofits efor — Fe
(e f2ed MoO)

e o Swres Gt e

@ Bi ® Ni

© Mn ® Cr

@ ol‘,r Ni, MnGCr@mdmﬁﬁW

wwwm:mﬁm Bi p
WC‘TIFT ﬁi‘w@arml

74.

15
(A" +B)C
@®5x%x4
©5x2
S(CIRTHIN
B3 wigr= 4 x 4

“ (AT + B) 43 Wy = 5x4
Cawmr 4%x2

(AT +B)CL‘HTH‘T~5><2

llm x’ + 6x
"—')002)( +5u‘ﬁ“ﬂﬁ¢w

@..

A,B,cmﬁ‘ﬁwawwns,sm,nzm

®4x2
©®2x5
@ = 5 x 4

76.

1
ik,
® 0
ﬁﬁ%%'ﬂﬂj

P £

N0 X \DS
lim lim
i 4 °“§§C B s R

X (142

. lim x2+6x:lim ;(D

T X0 0T xe 2(2 5
+

.
y=5+3x-—x2‘ﬂ'§wmm:
@3

i 8
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(0, 0)ﬁ=«zc<s—¥—-=oo

3pezpm'i3ﬁﬂﬂﬁmmﬁemmﬁwwm
wq #fhe fRed 2 | FTRET Tl @I 23

® 60°

® 120°

79.

@ 30°

= 9p +4p iz 12p cosaL = 13’»132 + 12p2 cosa
Q?? CFa,
4R* = 36p° + 4p2 + 24p2 coso. = 40p? + 24p? cosa
. R2 13p 12p cosa.

" 4R? ~ 40p* + 24p cosa
— 52 + 48 cosa = 40 + 24 cosal
= 24 coso.=—12

= cosoL = _.;.: cos120°

S o=120°
80. 9x’ +25y” = 225 ©AEA Sl firee PA?
4 3 5 4
® 3 | ® < ©3 :
[Solve] 9x + 25y% = 225
+L=1a>b
3
g Pt K5
=\ 73575
81. E%E {cos™ (sinx)} F6% 1f?
®-1 ® 1 © x ®§
-dd—x fcos™ (sinx)}.
o 1 4 1 \
M RN — =) ]
\1 = sin’x cOSX
dx
82. Jex+ e X =?
®-tane’+c ® tane* + ¢
©cot™ e*+c @ tan”' e* +¢
L g 5
li(;{x)g= tan' (€¥) + ¢
\3
©+3 ®

3
—. -\ : - 1
col l_)
€] CO (Sln 2

= COt_-l (S}.nhlsin %) = cot_l ..g.. = -\/-j

84. (2,5) 4 (- 1,-2) @ (3, 7) Reaws TR @A @

TS e I Gt A

' ®3:1 ©.245 ®5:2
Q0D K 2 @D
381 ok 102

K+1

=K=2+1=K=1=3:1

wiE, 5= 1K =2y 9K _ 2= 5k+5
K+1

—=2K=27=>K:1=7:2 |
85. X’ —5x + ¢ = 0 T GG T 4 T, o T F9?

®@-5 ®-4  ©4 Ol
{Solve) wr°f 3F
4+[3 5=>p=5-4=1
86. Ilnxdx=? :
@1 ® -1 ©0 De

o J‘f'“"dx = [xinx - x]

=elne—-e—1lnl+l=e—-e-0+1=1

87. FHICET SR T (G

as)ﬁasm(wmw ACH);
%) T :
DB g S ) TR iv) P

o) T | [Ref: Serse]

88. @MIHIe GRAIA! 5o (I FRSIe’ (I It & =
@ ST ® &TE
© @TELTFEO EOrFs
FONsone e —» @R R,
FRLPIOA , ACOT 8 (NOIHI, R Foife | |
ETHEE —  CTGhER 8 s esm @AM,
CEFICACAI 47 |
BTG —> (NN ORsRareT (R e
) | [Ret: TR -

89. ERIFTT SRR (I (a2

@?ﬁz‘n@m ® W
O GRARH
TR o, My
SR Gqr
Ll T, 0, €
JRee T, S

[Ref: =1 |
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_ 90. Octopus (¥ T4 LT
@ Mollusca ® Arthropoda
-© Echinodermata ® Chordata
]Fﬁm Mollusca enfeEres 3 26
SR e, fa wEe, s,
?}Ekﬂ m%‘f@l [Ref‘.m.mr

01. T R aw ARrge smmiady Af¥ e 32
® =t

92, T Y for 2o @R AR TR TIFT

® wEis!
©® Frarafae

(SONSolve) 7w T T AfE2, SR T,
X Wil A SRS 7w A | %S F O, e 8
SEel T T | WP TG TwH WE | WBC H
ORI @ ST FIAFIRGI7PT SOT | [Ref: W]
04, CITTIFT IR (eI 1 A2
@ Columba livia ® Bubo bubo
© Copsychus saularis ~ © Corvus splendens

(S@|[Solve) Columba livia — T,
Bubo bubo — oI,
Corvus splendens — 1% | [Ref. T

95, (@M in-situ FRTFI?

® T ® s IT
© @I TS © ffearmi

- F@®lsov T IPTEE Sratafbay A w4
FA-Pp RF | @B AT, A i, g
e o oAt T 1 Ref: T .

96. PR (T 41 e wpifEfers Wbz
@ AMRTERE ® @ 5T

SRS W6 a1 & AfFug 0, 97 ATWEH AT |
[Ref: T

97. BRIF RPTS T (IR (407

ATR ® ST
© © *miEefy

W — ST T |
AR — T (B, T, e

OLY PUBLICATIONS ¢ JUY ALY rumes

| ‘. ﬁ : ”fff’f SR 3

.Wr

@ S @® A T

© TR oA ) ACAAANH

yord EFEITH et (At U AT
wfy @fes e T A A

101. R *mba =g #
® wAl ® TS
© oy O =Ee

@ oo = =4 :

TapFTe G- SPat S5 | S (52T |
W (2 SR f<raa @8 | fRT- 9o o o |
102. SR *A {5 @R 0T RIS 72
@® @@ T o E ® @ w9 e
© @ widra fee g © @ 77 74 AE

F@lsohe e a7 wm 2@ « o 7 @@
R R SR, (1 WA 99 W W - A, 3
e g za - s, @ w9 fam ey - e, &
T T [ e WA, @ A e @ - LA
R 7w e

103. 71 *=fbq Aade = @rafo?
sl ® Fpe
© «=&

oy ewgyd wnde = -

Ing =0 R L T ‘T’,‘_’.T' L-;‘Q;?,a_ L, 1ﬁ‘hj".§:.“' . e
m:i‘. * — e ’t,
i “ed. "jq?! :i"'i:piﬂ.". TG4l , ATATAC- IS L L
" I 7 " -
J‘p _a. =T, (qAA], T4« , 497, !:7}&1' '\5, AT, K
Rarc e, HEHET, 6 14;4&;_5?3,@‘3@9;’-&%‘

TTORIE - L ms e o
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104WMW€W(W?

® fAn ® wirzfars

© TS , © faranfzs

%‘W- Frle = [ema m | fame =

i el qgeiteT

ESE] GHN/YRE | FAE s
105. 0 AW AT =G Pz

® o ® SF1Eq g5

© crt =t O© crera faaa

(SO [ Solve] Ffowm o : Rom-v=@ (ve @),
e 441 (orze =e), Bl e qgeire (Sgerfis
. foom), e (afeaE), v ame (sfe fes),
ST SSIR #IT (Fergrar ) |
106.°09 B T | G ‘CNT @I FEF?
@ S ® SAW rEw
© 9 TS O = FEw
PO 7 e Fx s, 1w, frs, wmm,
YA @ 7S IR T (T (S S 2, S oAM
P T | N : A RS 78 | T 0T 12 e g
ST 7T | FT M A_gel 2T e |
107.%1%r & o3 2eT ST B+ A =

@® Ffeze ® T
© TEEel © AR

SONSove] = aw wum e « et wwa 7
2eTH TS = TS G 46 % 4T 2eud Tom =
Baeewel; bred 9% off zera e = AfbargE

NS I 4T 2eTR TOW = *oMl; (e 5w 4

ETR R = TS 1 | .
108.3@57 SLBMPRT fAT59 @I “fas srima ez
@ M LoHq ® e
© Mo © FEE -
g@m‘?@@,wew:
AT 42w TP
MIW A Az e )
e e Gl I AT
SR i AITT=EG vl
109. %% ==fb J o =77

Wwﬁmmmﬁﬁ@www St
QPR *¥ qC( | @ 2 4B A G A (TAAR
ORI AART) | TR, g, g 4l ARHY Sfew
TE O A | 55 F =wle (@ g wWdR
IO = | ©IR “5e G0 @HG =7 |
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nﬂmwrﬁfﬁ‘»‘i’rmﬂerﬁ'w

® = ® @557
© fasfz @ T4

FONSolve) ‘@ + Vv + % = ave’ | ww awEr
wfom AT Peerem : NG 4 5 = W, NG + T =
A%, 0ol + =% = NI, N4 + 9% = A5 7T +
o = qG%, NG + qF = G4, J?;ﬁr+'sr? 7
G + & = Ao |

e

111.93% 4@ wifacadt (31 + 4) € @ (047 + 0.37)
2, 108 403 G @0 T T GFF 2047

@ 7 unit ® 10 unit
© 8.5 unit © 77[2 unit
B ONSolve) 7 #fa, U =37 +4]
[u[= (3)"+(4)" =5 unit

GFIHA a =047 + 03]

= 2| =/(0.4)7+ (0.3)*= 0.5 unit

g4, v=u+at=5+ 0.5 % 10=10 unit

112,459 aft Bt ws 72 RS o™z I = 0.5 sin
314t T oA @2 2, SO A% 9 2d?

@ 314 Hz ® 3.14 Hz

© 50 Hz ® 100 Hz

BOseive) 1 = 0.5 sin 314t & 04 1 = I, sin ot T

w0 AZ,

G4, =314 = 2nf=314

~.£=49.97 =50 Hz
113.Trefrs AT sffea SR 2 SER-

@ fow=ia ® forad

© faezze © 4 SR effowa
114, GG FRTGS sz cra-

@ p=1;%+} ®u<liy>1

©pu>1;7<1 O p>>1; 1>>1

SOSolve] crrammstae »mid «a G 2taerer p>>
IR GIHT 27Tl 47 AR 8 AR (1>>1)
115.GP] Gt ARAEe Ry oSy %8 swran
SIS F 3 27
@ SIREAGI ® SRAGH
© SR © WRETEE
116.9%% 8 2n m TP JEF AL 4.0 ms” TG
AR | I TR SPCS O T T AP

® (7°/2)s ® (2/7%)s
© (I/Tc)s © s
> _2nr _2n x 2%
v 4

- s




117.99f% couida civm w6y 1600 I=F | 6400 T 7

AT 3 o SEHE Aa?

@ 1/2 ® 1/4

© 1/8 . ®1/16
118.Rpe RIS o 5 : 5y U+ [ n> 30 ST+ ...

@MGX ®142X +

©I43X +3 ™ ®145X + ,
119&?@&%24@,%%@@

@ 1.2 x 10° ms™ ‘® 1.25 x 10* ms™

© 7.25 x 10° ms™

©72x10°ms™

120 wwwmﬂﬁwﬁmmwww
iii. SawCwaf -

i @ ii. %

@i sii ® i <iii

© ii-Siii © i, ii @ iii (Ans(B)
121@@@%@@%@%@@»@%%

99g ¥ 37

®2F . ® 0.5F

122: @f?%fi@%wmsms FAGIT B 9T |

3sec It 8t T 7Ag Wfowry Facay
@ 9m ® 13m
© 13.5m ® 27m

I
(&{Solve S=ut+5at

:‘»s=0x3+lx3x32.‘

5 .s=I3.5m
123. RGN AR JETRER T IR @R S
FHib?
®h ® h/2x
© h2 © 2n/h
. A 2 R 2 2
124.04 =2 + 3] - 4f;, OB = 47 _ 3 + 2k T |AB| =
Fo? :
@ 2\/19
© /17 ON17

A%:@ &%

__41-3j +')k 21‘_3,] +4k
=216 +6k

- |iB| AFT @R -\

125.y = sinx FR*F0CA AR FS7

@n ® 2n

©3n © 4n
ﬁ]m y = sinx 9 A = 21
126.1(x) = 5x - 3 T, £(3) G2 W FS?

6
%Y 13)= 3_.5_3- -4
797
127.P(ANB) =3 P(AuB)-— P(A)——zzm P(B)
®3
5
8%

ve] P (A UB)=P (A)+P(B)-P(ANB)

1.1

~PBRE-5*3

128. mm@mwﬁvwm (1% m+0,)2
(1+0- o) @ITFS?
®3 ®-3

©-4

0(1—0)+0))+(1+m m)

= (20)' + (- 207 = 40’ + 4’
=40'+40=4 (o’ + @)
=4(-1)=-4

129X +y—6X 4y+cﬂ0wywﬂm e
T F97

@9

® 4
®3

€2 - _
YWHTWW c=f= (2) <31

®I' b cosf 5 ® D=} Slne
® r* =b sind
={)
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131. r(x)—-—vrt*iraammwfﬁv

::»f(x)=§=1,x>0iﬁ,|x|=x

W, i(;\)————l X <0, |x|=—x
- f(x) 99 @8 = {1, 1}
3—A+1B(A B I SRYT T B = ?

132.7
B =E
®1? ® 17
19 + 19
© 17
[_~31)(4+1)
&
£19 - 8i Q_ﬁl
17_{ 17

13_3.p,qazzc=’-nﬁasmg e N T p < TF T

@®@-2 ® 0

©1 ® 2
134.F9 G SoET AT B $9?

@0 ® 1

©% @%

135."MATHEMATICS" *Rbq 3467 ¥ &0 et
T P I G AF?

® 120960 - ® 42350
© 12060 © 24690

S@FSolve] MATHEMATICS *mifbre a6 3 116
qma W 7736 (AAED) 46 @ s 2f0 A, Tread
(MMTTHCS) 7f5 @ ey 26 M, 26 T fRmrae |

__8! Al
", TG AL = 2'2‘><21—120960
lsﬁ.mmwwﬁlsx—q < 2 GF G2
@_-§-<x<2 %<X<2
2 1
®§<x<2

= - 2<3x 4<2
=>-2+4<3x<2+4
=2<x<b

$§<x<2

LLILIND & JUYRULY FUE

L CRILPLAA R T EVIIWT T A E ERRA LS § 8 AR g AIETIS T S0 8 SRR R & MRl re s s T

137. GO GRS SIRATTE N (T GF0a?

@ weraa ® T
© © fexrE
-\ gm WaIFIE Virus: TMV, a-o Mosaic Virus,

Mumps Virus;
CIFIRFIT Virus: Polio virus, TIV,HIV, (©F SI340%;
RO Virus: Herpes, Vaccinnia Virus;
fe=I=®@ Virus: Influenza Virus

138. %A (FIT SABIER AW 20 —

[Ref: ZIATH)

Tferwa (@RLABIF (VA1) — (0T, FEIACT |
2IfSTF 2B — CFENS, MECH |
CIFEI A — GRS, BT | [Ref: 2]

139. 7] FABF TRESF T -
@ Hypoglossal ® Auditory
© Trigeminal ® Glossopharyngeal
g@ HSolve] Hypoglossal —» 33 S #0377

Auditory — b FEIHF IR
Trigeminal — ¢ M TR [Ref: SrEww]
140. Riccia-Bf%t7 IR (@17 Sofd oAl ICA?
® FgR ® CHAFIR0
© Tizwre © *TIIoFIRe
_ Riccia - (S TegeriiFE w@r ¢ Fo
fEqma R SI3TIG 7ReT 8 IR CRIERRIRE 709 W |
i TR AR A @ CPIR Tl A | [Ref: STETsH]
14130 werer Sferna Sforee cafizr?
® FeifTs *aam

(wmwﬁm)muamwwwwm
TF | [Ref: T

142,06 DNA 9 FRGETS @ 707
@vﬂrﬁﬂ ® 3T
© A=

gﬁm [Solve] DNA @7 @Pi:

e wmfehe, safam

~RffE: ARG, arzfiE
RNA @ (5@ QR 2(Ras Leaifee A0 | rer: 2]

143 RS Cofiet? _

@ Ulothrix ® Polysiphonia
© Volvox ® Sargassum

. @ Volvax, Ulothrix— Chlorophyta(3Tger ¢<i=FT);
Sargassum — Phaeophyta (Wi RET); Gymnodinium —
Pyrrhophyta (S ¢4F7) | [Rer: 21, Sresw]
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144. -SRI =0 IS T
| @ RIEE ® LRI
© ¢ TR IEEA

ﬁ‘ﬂanﬁwﬁ“ I [Ref: W&

146. 5 Refve s JRFEr Gy T -
® Rhizopus ® Aspergillus
© Penicillium ®© Phytophthora

P l}]m Phytophthora infestans %91 S5 Late
blight @R Alternaria solani &I=I STA Early blight

T | [Ref: THM] -

147.@RE 0, '8 CO, <7 R w57
® & ® &ifear
(@k(exal © SESGET

SO ESolye) =i (Gifem) 371, Qe JfET 2R
WWW}WWGWWW
TR X7 ST | [Ref: W)
1487059 et AEfee afitea Smim?
® SEICoTe
© TG
Disolve| FiEfFe aften gas z@m MEFHIRS |
mﬁwﬁ@mmﬁ@ﬁﬂ +Ar2faffe; aREe i 8
FACEL W A0S | [Rer: ZFM]
149:«1@14?@*{&%@%?
@R ®v
©8 O ¢
‘m Taeeta ofb ©fg: SR, ST, @B |
& T GO ZCE MTICACRA TN OfY | [Re: wrerse]
150. 3039 Mo @R T VTR G Z0eT =
@ = ® free
©t5m=—1'®emrf © @&

WWGW@W—)@@W
W@ﬁﬁawawaﬁw;lacgwl

UBLICATIONS » JOYROLY PUBLICATIONS ¢ JUYRULT Ty

mﬁwﬁ’@ﬂwﬁqw
vi%‘ﬂ?m 305b-3; ZERE: T (Re SFE)__

ST 48 ¢ PG PIETIRT 038 FECS

@ frdirgs ® frmmage © oI © JENE
SOfsohve) @ I @ WA, SR A T
TSR (g 1 o o =, ol e
AT TR J0T 1. G 9 oS 6t | o
218 I = | .

Ao I D S

04.

05.

. W “TT“IJ_ I, TS, ANGE , TG, TR |

06. WWWW@H@?

@l @uoTa Qe © W

SO Solve) v =it T S (ST, SR

(ML), el (S eiRveet) , SFPTe (SmRece) |

WWWWWW?

® PR 008 @ WP @ Pieead & WP

ﬁ{"\‘ww © Prrea & fiftfe s
eSolve @ AT SN PR NG

O TGN Y ST I | O =S

07.

08.

EW@WMWWI ’



JOYRULT fummaes

I4h.m1_N.'”0isc is

09. SRR

® iz AT @ an unavoidable problem in an industrial society ;
O ewe Brgar ® not a serious problem today
] [Solve) SRowR1 MR 2ip® A, waw ¢ B © number one health problem r
® complex problem }
sl i Ol ciemF/ow *m FEeTernEE @ |
A A | R, S jl%?ﬂ‘fl ‘ |
eI T ST |
: ' 15. The dog was in front of the door. ;

SR sy ® lying ® lain
i .EngllSh © laid ® laying |

Read the following passage and answer the
questions 10-15. _

Unlike the eye, the ear has no lid; therefore, noise
penetrates  without protection. Loud  noises
instinctively signal danger to any organism with a
hearing mechanism, including human beings. In
response, heartbeat and respiration remain accurate. In
fact, there is a general increase in functioning brought
about by the flow of adrenaline released in response to
fear. Because, noise is unavoidable in a complex
industrial society. We are constarifly responding in the
same ways, that we would respond to danger.
Recently, researchers have concluded that noise and
our response may be so much more than annoyance. It
may be a serious threat to physical psychological
health and well-being, causing damage not only the ear
and brain, but also to the heart and stomach.

What is the author's main point?

@ Noise penetrates without protection.

® The ear is not like the eye.
' © Loud noises signal danger.

® Noise may pose a serious to our - p
ssychological health. )

R @ PR T S 0! O TP P |

11. Tt can be inferred from this passage that the eye-.
@ responds to fear
® enjoys greater protection than the car
© increases functions

10.

hysical and

© is damaged by noise '
SO ] Passage SFA (514 I GW Q@R

12. According to passage, people respond to loud
noise in the same way that they respond to ——.
® danger ® annoyance

© damage © discase _
5 HExplanation] Passage S AT O *TH

nd A
eI efeferar feion #rer elfeferar 7 |

*13. What was the topic paragraph that preceded the

passage?
@® Brain

® The Eye
ase © Fear
tiop] (5T FACH TG passage f6r AT

SOy Lie (R 41, CTH1) @B intransitive
verb (Lie- lay- lain)| Lay (CHRICHT, 3 e
transitive verb (Lay - laid - laid) | 43T Tl i

fafoeet e was lying 23 |

16. Choose the correct sentence.
@ He wants admission to ABC College.

® He wants to get admitted into ABC College.
© He wants admittance into ABC College.

©® He wants entrance into ABC College.
Bxplamiion] Get admitted into - ©f8 2T |

FO
&
week.

17. She works six days
©in

®a | ® the © for
SO o7 (a week) T i 1o T |

et
18. The epic focuses - heroic deeds associated with war.
© by ® on '

® to ® along
@F?Pﬁ?ﬂﬁ#n Focus -43 #iF on & |
19. I shall wait for you — you do not return.

@ until ® if
® unless

Eplnation] TRY XA clause % negative 9@ TR
eze till Q1 Until, unless g @ clause 0
positive 77 g od negative T | S (R if |
20. Which of the following is a correct plural word?
@ agendum ® peasantry

© datum ® phenomenon
@ Crowd, peasantry, people, poultry,

swine (70 singular TS &1 SFCE plural |

police,
21. Their journey the sea was unhappy.
@ on ® over ©to © through

o] CRIS1 1 SRICST <60 T S FACT O

22. The best things in my life my family and

friends.
®) have been

® arc

23. The correct English translation of Bangla sentence

‘TS TR YT = s —
@ Seeing is believing

® To see is to belicve.

© If you see you will believe.

© Believe depends on fact. T
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24. Neither of the books interesting.
© ®were ® are . © had ®© was
SO Either of; neither of @ *R noun plural
TFS verb singular 2 | '

. Rubel is looking forward to to America,

® go © going © have gone
; {Espanstion] Look forward to, with a view to, it’s
no use, it’s no good, worth, mind TSI AFET T o
v, +ing = |
What do you mean by 'bibliography"? "2

@ collection of Bible ® worshiper of books
of Bible ® collection of books

- (PN GFEAH EHE T

26.

. What is the synonym of 'apex'?
@ bottom ® lowest point
© acme O high
@Ei Apex (@) @9 FLF *R7 acme (‘f'ﬁ‘é,

e |

. I, who

vour friend, will help you in -all

possible ways.

@am

® are ©is D were

3 Erpianaion] Relative pronoun @ antecedent €S
Mi(&] 'ERPT C’ii"”f A verb 24 |

He is one of the honest in our society.

® mans © men © mens

wios One of UG noun plural + verb

29.

Th:: antonym of the word 'imitate’ is —.

@ emulate ® copy © simulate  © alter

@rpam Imitate (W W HrAIq ﬁh—g T -_('Ff

4dl) 7 oS =1+ alter (ﬂﬁﬁwmﬁmmﬁa

)1

'"To build a castle in the air' means —.

@ beautiful fort ® real plan

© building full of air © absurd imagination
HExplanation]| To build a castle in the air - faary &

ST ST ST 4 |

The novel that you — is known to me-

@ have finished ® finished

© had f' mshcd © finishing

30.

31,

32.

ﬁmsh I i
33. What is the adjective of the word 'legitimacy?’

@ legitimately

© Iegmmate

® legitimize
© legitimised
Legitimacy ((94®1) <& adjective et

Ieglmnate 9) 1
34. I must not condemn her —— knowing.
@ without

®by © for @ before

(T A I A 9 |

3. mmwemmwm“'

® -40 ® 273
© 574 ® 301
nF-32 K-273
9 LT o
x-32 x-273 _r=K]
5 - 5 (P & :
= 5x — 160 = 9x — 2457 ;
= x=1574.25 Qe | T
36. a3 e (T T ﬁmmim_
T 0 o fRed T < TR
®7 ® 2T _
| % 7@ TS
< T O S SoafET AR |
G}i‘mwﬁmwiﬂﬂﬁﬁmq ; s | o)
17, @ TR cUoHRs o T e =
Eﬁmw@:{rwmﬂf@dl
S i oL 0O
5 .
[E = 2mgc’]
2 1“4 3
= 2mye’ = — = = == 4
-
v B_ B
:>c- ) =>V-—. ) Cc _
38, W AS GTTA=1 CRB=] + k WOT A R B
G YIS (@ FO?
@ 0° ® 45° © 90° O 180°
- 2
A.B

%171

— -1 0 ) B | ~1 = o
cos (1 x\ﬁ =cos (0)=90

39. 1.(j x k) @@ ¥ zT-
. @0 ® +1 ©\ﬁ
OfiSolve) i (j xk)=1.1=1
40. R 6 W Prerw e I91 @ 0 R @6 ST
AR e it (R e B SR
@ FEBTT e sfesg
® St T o
© febem fadiw vy
© et T sifowa

® -1




R T T

Al wﬁﬁmmmvsﬂﬂmm @ A eEfe |

W.
@ wered e ® ot
@:ﬂﬁ © GGt

mﬁWWWu dQ = dU + dw
o @ft &= frers! saw 6 R wot |
Ty G T 7 SE@E (Ty > Te) 220 SMHYRTE

42.

(1-T—2) (1—TH) Tz—Tc

43, TR SfrsreT Aifea e ewrt @ib?

®&xﬁp2ﬁ-

h h
AxAp22:>AxAp24n [ = j‘

4. & et TG =e=- _
® h/pc
® h/mp
C

o) it semtndy A = —— =%

45, 3t Wapfes Afers @ =R "60 W — 120 V" | &
G T

@60 Q ® 120 Q
©180 Q © 240 Q
1 2
#Sol: 60~L§0l:>R—24og
46. ﬂﬁ@mmmyﬂww
@16? ® 1.4
® 1.28

Fﬁtﬁ‘mwaamymwm
47. S TFFNTFTF G G I TED A
@G.ﬁ;\t{] ®6x§=0
OVxF=0

48. G AT 5t NaNO, 8 HCl @ 3w Sref~am
A AFS T4 T2

@ CH;CH,0H ® C¢H;OH -
© C¢HsNH,
H Solve| SraTETFae fAferm:

N,C1
NaNOQ,HCI +21,0
0-5°C

@ om0

1° SyEaGe S

fag: @2 R @ 10 wiEcebs ¢ 1° syraabe
TR Seey “dr S 91 TF |

49. (I GITE ST SIS e Fio?
@‘TI?EEW @w@m © eifeas  © FHEar

f%w-cm ﬁ@ﬂ%ﬁﬂwﬁwﬁmqu ;
meﬁzﬁmmwmﬂwmﬂ
— 1§% 2% 2p, 2p, 2p,, A WS o 2p WG
TR ST oA | o 5T SN e
A = |

50. G 419 IR s WROITT G Rrey Leige e

® Co © Fe © Mg
gosmve
Cr GG &S ZTRGa Ry = [Ar] 3d°4s'
51. @HGT 3R [URT AP SRR S@et?
®F ©cCr
olve] A** (13) —> 15 25% 2p°
F (9) — 1s?2s” 2p°
f&: @ A" 8 F 20T SIRGTIRETRGN |
52. C;H:NO, (& Sn <R T HCI TR Tae 31 21 I Tl
o= o
@ 3 8- CRAREIEEEH B @IS

© Mg

© T_A © affEm
NO, NH,
S P @ Sn
L Conc.HCL A
«fSfem

53. <P GIIFT SRRB I T VR e T G SAf By
=
% __®13
2CsHy5(g) + 250, —> 16C0x(g) + 18H,0
2 (NI RO A A1 TeoAyy 27 18 Qe

” 18“—-9(?”3

2

©9 ®38

” ” ” " ”
%

| 54. mmﬁmemmnm(aq)wmm

Y RS afe e
@ CH,=CH,
© CH;CH=CH,

® CH;CH,CH=CH,
© CH;CH=CHCHj



@® CH,CHO ® CH;CO,H

© CH;CH,CO.H ©® CH,COCH;
SOSolve] =fE@l wwe  wml

ST SIS 20 SR (AP 8 o S S
AR GfFE, CO, ¢ *iifF Seoig =0 |
BRI ASF T (FH?

®F>Cl>Br>1 ®CI>F>Br>1
©1>Br>Ci>F ©®Cl>Br>F>1

(SO Sohve) GFiRtR e Hera@er TH R @
78 (IR 2R SPIE FACHCH @ |

T I GO TR ST FRIGHRIT < 1T 0 SR e
@® CH,CH,CHO ® CH;CO,CH;
TTCD ST Cofa A | RRCBTPTR @ faferr (A AT |

56.

57

58.
TR S0 R 6 i At tofd Z
@ HCO,CH; ® HCO,C,Hs
© CH,CO,CH; © CH;CO,C,Hs

- (SO Solve) Fawwaee @& HCL &2 AP H,S0, @4

™ SerE (ed «@fie (CH;COOH) ¢
SYFTIRER (CH;0H) fRepte $8e FacT CIICREEMIGES
NG @351 (CH;COOCH;) T%7g A |

59. fiea @ G AfRREMeT @Ers! v T 17

® Mn ® Fe © Zn° ® Co
fSolve) wag@d GIFPTIR (Fe, Mn, Co, Cr 2971M)
el G S e e | R d 3 G e
oy Glie | :
60. =T BT S FWE 5?7
@ Na* ® Na ©Mg** ® Mg

SOs0lve

o o3 T 3 (A GG (I PRI SR 71T |

° WWWW'WwWW@ﬂ-

QIR FTE A FH R |

61. qF CGTFT H, 101 330 /T WR?

® 6.02 x 10% 6.02 % 10
© 2.02 x 107 ® 12.04 x 10*
62. @MFDGTS SRS @ TG IH [ATHT?

@®NaCl  ®H,S ©KCN © CH;Cl
(S@fSolve) K° C = Ne et AGIRA 8 AR
4 @ TEGE AR WL TG e QO |

63. 0.005 M H,SO, g3ti9 pH 97

® 4 ©2 ©5 -

64. =7 @A @AW et e F?

®-NO, ©O-CHO ©O-S0;H
(@I T Srerareial T (~CHs,

—OH, - e 2 2 |

W&S&WWWWW

65.

‘66.

67.

69.

68.

70.

71.

+Z,

0 5 v @ LK o RS D SRTE?
® TERGRT ® g ocr

ST AT (I T e AW _'(‘:'10-'3
® NaCl @ NaClO ® NaCl 9 NaCl
© wig@ NaClOs

e
NaClO PR
: =

Cl,
73| 8 70°C or@ad NaClO
@AIET AT FHRES 2 |
NaOH + Cl, _70°C, NaC
K;MH04 (IS KMBO"

YERA-
@ +7,+6

103 ~+ Hzo

C
1+ Na W.

a _

5

®+6,+7 ©*> 4 0%

OIS K:MsO: %
(+1x2) +x@E2E
KMnO, &% ¢Fed, + 1 e e
CH;COOH ¢ CH,COONa
W-cﬁﬁfﬁﬁﬁﬁ@mﬁm S
® CH,COONa < <l T

® 2R+
et fage sigfe — CoHa, BCL
SowTRR STgTS — CHy, NH,' NH;

raeitafas Sigis — CyHa, COz, BeClz

I I SIS TG

© NH; © PCl;

NH, S9rS H-N-H I @I T 2

@ 105° 109° © 107° D 120°
ol @
NH; 107° R
CHs, NHs™ | 109.5° \
BCl;, CHy | 120° |
BeCl,, CO, | 180° \

@ R 0 $37, K, @@ @F () 2
@H, +1, = 2HI
© 2NO,

® N, + 3H, = 2NH;

= N,0q4 © CH, + H,0 = CO +3H
| e, K, @7 a (o FEE)”
2NO, = N204ﬁﬁ?Fﬂﬁ CFq, an = (1 —2)"—1 :

- K¢ 99 959 2 (mol/L) ™' 31 (It -1




JOrRbiL Fuotes -# - L S
73, 3P 6 4P TR FTEH 90° (T s 2oer oo+
® 4P ® 5P
© 7P © 10P
POl 7 = 3"+ 47 P = 5p
4. j—-—-dx
1 ®-~
@2 N
©1 ks

dx———J
AT P

WL‘
\[‘_—

75. :rrﬁi'ﬁrem 2x—3y=swmmmﬁ- :

@®2x+3y=5 ®3x+2y=0
©2x+3y 0 D®3x+2y=7
SO |[Solye 2x~3y=5mammﬁw

3x+2y+c—03ﬁ’i"ﬁ"i’fﬁ o
-, g /@i 3x + 2y = 0
Shorteut: 3(x-0)+2 (y-0)=0 .-

76. cos™ x + cosec™ G—J =2
@x+i ®x1-x
i I
© 3 () 5
S — 1
7 0 Y -1 -
: Iﬂm cos™'x + cosce ( s

3x+2y=0.

\._/

— =1 ] =E
cos X +sin X >
lim 2x
T — =7
- (4x + 1)
@0 ® 1
1 1
©2 4

mlim 2% _lm _2 _2_1
xoo axt] xoe 1 4 2

X
78,y =+\/x TR o1 x = 4 Regre e -
@1 ®% '
1 \ 4
©3 )

B et

79, y=2x, x TF GR x = 2 FRPTE T S G CRAFT?

@5 ®4 ©9 @30
Y
,
y=2 okl
X' X
6 2 x=12
llH

80. CT =S e TigE e oty 4 AR
@0<e<l ®e=1
©e>1 ®e=0

SOF Solye] T <e < | 2 IR0 TGS A =¥ =0

81. X% — 5x + ¢ = 0 FRNFACR G0 FT - 3 T ¢ G T-
®-6 ® 6
©-24 © 24
[Solve) <=6 1 -3, Wof oL 201 R,
—3+a=—*1—5=¢a=5+3=8

Wﬂ,(—3)a=c:>c=(~3)x8=—24
82. sin0=-1 T O GF -

®nn+1) @iz
@ﬂinz;]) © 2nm
SOISog sin6=-1 .. 0=(@n- 17

83. y=2 Ry =x+9 G TGIS TR = ?

® 120° ® 180°

© 145° oy
y=2:>y=0><x+2t£1§131?f=0

dRy=x+9 @b =]

@RI TGS FE = 0 = O3,
0-1 '
1¢0x1

T T
t _.“"t M i W
=tan 0 an( ) tan( )

e=n—§= 180° — 45° = 135°

84. 4x’ + 3y’ = 12 Toigren ToiafaE oww G-
@3 \ ®9
© 22 ©6

(xf)z ;é—

‘%Wmﬂm=zxg{)g=.2x3:3

=tanf=-1

tand =
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90.

91.
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® Panthera pardus ® Panthera leo
© Panthera tigris ® Neofelis nebulosa
ﬁ(]m o Panthera leo — F0aa (awalfss = |
o Panthera pardus — HoRITER (FE@IE W |
o Neofelis nebulosa — (Ve 5513 (&I = | [Ref : el
FLAIITE T4 FAH 2 '
@  OTE OfRr OFms

SO Solve) TR Q77 G & A GBI T A
TS #I1C7 | e Gl WA (P ST (T il
G S B oS I T T iR FOARDTS 6 |
T TS O (T AR 2 | [Ref : BERefAHET
Teaa xeiee Tl e Rurare

g ®4 ©3 ®2

B

MSolve] cas z<Pie b arioRie @l e
W | BRI YO0 TN @ I SUIGAN A S aR
fAog RfoCe ©F 1 AN COfGT 1 7T 0T 1 [Ref ; o]
FreRAT o @Ho?

® Platyhelminthes

©® Annelida

@ Nematoda

e Acoelomate ¥ FTR&AF : Porifera, Cnidaria,,
Ctenophora, Platyhelminthes &f® |

o Pseudocoelomate 3 SeF® LTG0 : Nematoda,
Rotifera, Kinorhyncha 2%f® |

o Eucoclomate 3 &3® Fracn
Annelida, Arthropoda,
Hemichordata, Chordata &S |

I IR & -

® RS

Mollusca,
Echinodermata,
[Ref ; STerwe]

PO
3G | [Ref : 21|
I Efowce GIee My <4 =02

@ Cycas pectinata ® Podocarpus neriifolius
© Gnetum montanum © Ginkgo biloba

(X_\); Solve| 3@ Q1AM ©f6R : Cycas pectinata, C.
circinalis, C. revoluta | [Ref : 2]

I SRR Bfew (At T “iew I

@ Poaceae  (® Malvaceae © Fabaceae © Cyperaceae
Malvaceae (@& Gossypium id [fexy awfe zre
AR AR | | [Ref : ZF]
TSt &0 SSIIRIT 2|8 SAMITTR TR Tl

BT .- BU7 ©27 < - Wl
POy Soom s soreird F S

T 3af5 | AT (RIS QT (o A s IR0
@t [eE 303, I R R« e 799 T

fro T | [Ref: T

96.
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©0 _ OB
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ﬁww @I o IR (@AF G A= A
ATE 41 Wi?a 0 &S AL Aol (universaldonor)
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oI T SRR EES?
@ Carolus Linnaeus ® Simpson
© Lamarck ® Aristotle

@WWMWW:
s, AREICT forere Bfewa e S |

3. Bfew @ i B9 TEae AR AT FCE |

©. 7 TEIEE @R Bfew *MIE FEF 1 [Ref : STEF]
Musca domestica (P19 ATEa e

@® Annelida ® Arthropoda
© Mollusca ® Echinodermata .

(S 9 {Solve

e Arthropoda

: Musca domestica (7J=MMR)
Pieris brassicae (7o)

: Metaphire posthuma ((35)
Hirudinarie manillensis (CG1%)

o Annelida

e Mollusca : Pila globosa (ST *IT4F)
: | Octopus vulgaris (SCRIAT)
* Echinodermata : Antedon bifida (*1F% ¥514)
' [Ref : wT&|
Cavia porcellus 9%f6-
® e i ® Toba 28T
>, (MR T @ WS R gl o |

X, e & 2ifice wfewy By A |
(% : Homo sapiens (Wg) ¢
Cavia porcellus (ffferst

[D af - wresd|
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103.C3(G w2P1%a CWIRa?
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SO Solve] - fFAT SH-PIF T T ol SR
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27 | G < & + SR = SN, Ze + st = oo |
104,10 SIRRABE =77
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O @0
/RIS | OIfFAne
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105.Fr RS it oife® *Re (FT(v?
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CR@T) @R e = FE A (STHe
AR AfF5®) |

106. TIR &PTS! BLR | DI (P PITL?
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T 3 | e - Wi Qe w5 A2
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108,57 Wer et e e
®tFEe  OWsI@m Ol ;
{Solye| s A chasfae (S, ™
TOEEe (ST EF),
@OCRGT (FNFAY), AR

(AT (ARTERA) |
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Frfe TR Ped AT SaTetH 39 |
118 TGS *RARR RO T LR S (FHv?
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ngﬁmﬁwrﬁﬁa%wmmmﬁw
®-13.6eV ®0eV
© -1eV ® 0.53 eV
A me’ b
8¢eyp nzh2

S =91 x107 x(1.6x 1079’
8 x (8.85 x 1072 x (6.63 x 107’
=-2.17 x 10W5-13.6 eV

120.92% aondl WYz, 1 = I, sin ot @R 1 = 107"

sin[cn(t+%)] TG T AT T

TEERT @

sifiomer =7 |
. | 126.5BrCTa T F?
® [MLT ] ® [MLT]
© [MT:"] ®ILT?|
s 4 MLT
_[le[MTQ]
127.99% =@ FTF2 0 2T 1| 3 9 4 ~HeTF TWIKAI-
1 1 5
®6 | ®3 ©E D1
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0.x* +y’ — ax = 0 J&F I~ 2
= : . 137.(x) = —X— TITA (BT~
® a x -1
® R @R~ (1}
PR ©OR- (-1 . ®0.)
‘.- 55 = N - ”
. ay SR f(x) = —2— TG AGATE 207 T4
y+2(-2)x+20y+0=0 %=1
2 x=1z0=x#1 . GCHA=R~{l]
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=2x3=a ®-L ' @3@ Y
2 \2 2 3
131.cos(120° + A) + cos(120°-A)=7? ©2 D 1
® 2 cosA ® cosA 5
; SR A’ 2o
| | POREES o (5)+ 0 (3)

©-cosA @O0

¥

F9 [

= 2 o y. o — ﬁ)z_._(__
=2 cos120° cosA=2(— l) cosA = — cosA cos® 30° + cos” 120 (2 :

2 3 1._4
3 a A .5 R R g =24o=2=1
(32.0 =31 +aj — 5k @R v = 6i - 8j - 10k @ 4 4 4
FAIEAE T a GF TIH- 139,425 *1if FaeE (@ @ oF *E 5 GRS 50 F/C.
+fS ore 2z fela e @ -
@ 10 f./c ® 25 fa./=A>
© 25 f /=22 : ®s /=

F@[Solve) T, {2, v=u+ft

=50=0+fx5 . f=10f/c

133.u @08 o, T &fFFe FEI SR Sl - S
®u2§sina[ '
g 140, Afers TR FH0E FA0 S ATE?
) u’(cos 2¢) ® 204 206
2 © 207 ®208
EOE SR e = 2 sin2a. g@wwﬁw@w’ﬁ%lmﬁ
e g 20u(B SE fa 7 TRy 5o | [Ref : =r=we]
a=45°aca,vn:jmj-érrwml , ' 141,904 0T FCAMS FLE F1 - :
. i A = = sin 90° = = @ coE ® RIS
134.1+2+3+.. .ni" : © R
St P ey (S@Solve) Option A, B, C, D TIETT 307, 57, b3
@{i—Jz } @—(———22 @ 36T FAMS T | o) [Ref : =]
ey (0] 142. (@B I AN L6 I K2
©—L4—2 ®——4——l @ LA ® fefEam
SO Solve| 1 +2+3 + ......... e AL 1) © e ©
13543 + | & SETITG- | T A RO GACE (FIEE “oAlera Tew Il e
@ 45° ® 60° © 30° © 40° T T @ SACS (@ 5F, Fo W vE €
o 55 D = an” (L) FETRG GECAG Sopif IO ACE | [Ref : T
| \3 143 #6318 S, ZCGITE IR SHEAR TPATS 2T
i) 1, T @ 1:3:1 L4l
tan (tanﬁ) 6~30 © 122 ® 1:2:1
136.15053 G SPTTSIG [x — 2] < 5 GF G? (SO Solye) Sravizn @i srgoyd Mol o ¢
B®-5<x<5 ®-3<x<5 T B e PIARIZED | RS A,
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146.Cell *%fb qé F2=-
@ Robert Brown ® Robert Hooke
© F. Meischer ® Watson & Crick

= ﬁs]ﬁﬂ]ﬁ Cell *mf6 &$7 ¥ Robert Hooke |
B Cellula *wa f T7 arars a oft ) fofy om

% Micrographia QUE & T | [Ref : 2]
145,701 % AW (@7 ‘ : |
® ® R © @ © ol

SO[Solye] wzw s 4w s AT,
' , A A g wAfame o el ¢ 5 arrs
AT | [Ref ; 2]
146,10 PR3 eI 7
' ® Nypa fruticans
 ® Heriteria Jomes
© Dipterocarpus turbinatus
© Shorea robusta
ﬁl)]m TS &Y JF 17 (Shorea robusta) |
GRSl OFTSl (Dillenia pentagyna), G2 (Albizia
procera) TSHIM GLA | [Ref : 2]
147 I8 Renes Rens 31 I
@7 gEtien @  ©ImsFN O A
FOSolye) T8ew o Sz 71 crzre =Aforg 0o @
WG A FolST I AT TS JIIGAT S TdIF |
IR TR 8 B T Reae | [Ref : 2]
148.C3 4E0R OfeTH GrRIgeT SECave (7 -
@ % Sfewn - @ e Sfew
- © (I O e ofen
T AR SR BfEmR IS At
M, o ey i sform Bfen emifs emis A |
R WG WA Sfew TRRE SHEMIT | @
Rhizophora "3 2&1fS |
149.(P1 gL AT S #1122
@ =TS &g ® “IHRIEES aff
. O g afg
B Osolve P51 i wmom e e afy

&g afg (Principal/Master gland) 1| S PEE5f

- afg 7S Za0ICE TR @ Q@ conf Ry afgm |
07.

BT GO TN Lele @ |
150,10 ©FTer Bfen?
® Mangifera indica ® Cynodon dactylon

© Nerium odoratum ®© Hydrilla verticillgig
FO5as) =2 (Hydrilla verticillata) Frfir
oo | EITT SR IS Ffess T e BfeR 2T, sirey
e (Vallisneria spiralis), *Tl I (Potamogeton

' nodosus) T | [Ref : T
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04.

0s.

06.

08.

® T (T
@ BT GG (o © R T

R R T e BB TR T T R
o A AT S L O
SrAfbre soee B, o8 TWARF F CTACR |

. I &g PR ARACE?

@ AT TS ® e e

© W& Jfere O fer qPrge

FOSolve) i SR e AL (3538 -200b)
o[ 7 e (6 el IR AT FACRH | ©F TR
N I R eI Fof Terg e Raa e |
‘el e T v 2

@ @ O © WA Gl

T GF AW 4 G 27 IR IR B 2
® oG ® eI
© @rirst O srfE

ESolve| ¥l T Aaya oo fous | 7o ¢ )|
IFIEF R | SFI(G 8 © | @7 |

E-ZST T QT (I G20 St

@ S ® e

O et ® wT &0
TR ToUTeT 3 amfoa s i |
@ FrETef ® o

TR 7 “Afoa JRET @S
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TR AL SHATI
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aFT/qFS] | Aferen | ek
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© Sfmm Oz GalD)
1. ‘CERIR Spbd’ IR S i 0% T 0 iy
@ T ® 7% © 7 © G Ans(A)
English

Read the following passage carefully and answer
qucslmns 12-17.

Use of clectronic mail (e-mail) in bu%mcss affairs has
been widespread for more than a decade and a half,
E-mail simplifies the flow of ideas, conneets people
from distant offices, eliminates the need for meetings
and often boosts productivity. However, c¢-mail
should be carefully managed to avoid unclear and
inappropriate communication. E-mail messages
should be concise and limited to one topic. When
complex issues need to be addressed, phone calls arc

still.the best. ’
12. The word ‘eliminate’ means
@ establish ® initiate

© remove O set up
13. The word ‘productivity’ is a/an ;
® adjective ® adverb ©verb  © noun
14. The passage suggests that e-mail messages should
be ;
® unclear ® precise
© detailed © frequent
15. The main idea of the passage is that e-mail
@ causes people to be unproductive when it is used
incorrectly
® has changed considerably since it first began a
decade and a half ago.
© is not always the easiest way to connect people
from distant offices.
® is effective for certain kinds of messages but only
managed wisely.
16. Which of the following would be the most
appropriate title for the passage?
@ E-mail’s Popularity
® Appropriate use of E-mail
© E-mail: The Ideal Form of Communication
® Why phone calls are better than E-mail
17. This book is one I was looking for.
@ a ® the
©an © no article

IWEN U sl s £rone o mmare

TRULY PUBLICATIONS o 1GYKOLY PURLICATIONS o SJOVIOLY FUIBLI ATIONY

o HIYESNN FUBILY . ATE R ® PITEAAN FUaranas e

18. R.:hmdr.m.;!h’t& short stories nfttn e wrpri'u:
endings.
@) had 35 have
© has @ have had Aol H)
19. If I were you, | —— the situation more carefully.
@ would handle @ will handle

@© handled ) had handled
If clause 9@ were 4@ & 2™
conditional 24, 2™ conditional 4% main clause 9
subject + would + verb basc form ¥ |
20. The expression 'take into account’ means to ——.
@ count numbers ®) consider
© think seriously @ act (AndB)
Fast-food restaurants have become popular in our
country because many working people
® to eat quickly and cheaply. :
® cat quickly and cheaply.
© eating quickly and cheaply.
D) eaten quickly and cheaply. (AndB)
I wish the price of the essential commodities
come down soon. ;
@ would  ® will © should @ were
g Wish—unreal 94T9 403 @4 4799 verb
4Tl present form @ A *T, <9R past form =3 |
He is decorating his flat with a view to it.
@ sell ® sold © sate © selling

EO i) With a view to + vy +ing | _
United we stand, divided we -
@ sit ® run © fall ® break
Kazi Nazrul islam is Percy Bysshe Shelley
of Bangladesh. -
@ the

© an
A dumb cannot

@ speak ®) see © hear © walk

(S tssemsivs) Dumb T, e @ #401 %S A T4

Every member of my family here tonight.

@ arc ® is © was D be

g@ e spanain] Each, every T971 subject ST AT,
& verbl® 74T singular 74 |

Dhaka is becoming one of the

@ more busy ® busy

© busiest © more busiest

Z@ One of the + superlative degree |

Rana to Dhaka just a few months ago.

® has moved ®) had moved

© would move © moved

2 e

22,

23,

24.

235.

®a
@ no article
26.

27

28. cities in Asia.

29,

@ qt#] ago, long ago, before Zo)™

%A 91 past indefinite 2 |
30. The girl is trying hard to —— weight.
@ loose ®) lose © loss
31. I reached the station —— the train had left.
®) then © before ® after

Eaplaaion

perfect = |
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32. The dead body was to Dhaka medical College

Hospital morgue for autopsy vesterday.,
® send

® sends .
© sent . ® have sent
33. Dhaka university called Oxford of
the East, .
@ is, the ® was, the
© has been, an ® is, no article

34. The correct English translation of the Bangla
sentence “FHCAT SO o1 = A is
® Never hurt others,
® Never speak evil of others,
© Never speak ill of others.
@ Never tell of others.
ﬁ( ]m Speak ill of others - Sicza fFmt 21 |
35. Which one is the correct spelling?
@ compulsory ® compolsury
© compulsary ®© compalsary
Choose the ¢orrect sentence.
@ They hardly speaking English
® They hardly talk English
© They cannot hardly speak English
® They can hardly speak English.
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+3k)=(8-3)=5J
= (4 + 3j)(21-J 3k) = (mc;mo@mqmoxm

fire 4FG 1 F5Y
®100N ~ ©174N ® SO N
l ~ F cos0 = 00\&{.0\60 = 100N
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£ sfaane Ay AR WA
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54, I CTFOR ST AP =% FT60w T2
® Al © Na ® Si

T S R Aers A |

55, @6 B0 ARGIHIRS ARG G 1.0 % 107 * mol |

dm™* T §4ra pH @9 T F57
' ® 10.0 ©11.0 @ 6.0
{Solve] pOH = — log [1.0 x 107 = 4
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